af&or ey W9
South Central Railway
Vijayawada Division
Divisional Office
Personnel Department
Vijayawada

Lr.No. SCR/P-BZA/209/EP/P9/PRQ/Vol.6
Date: 18.05.2023

Jr.Clerk cum Typist (against 33%% quota) Notification

Last date to submit applications is 08.06.2023
Date of Examination on 18.06.2023 (Sunday) at ETTC/BZA

Sub:  Formation of Panel for filling up of posts in the cadre of Jr.Clerk cum Typist
(erstwhile Group-D to Group-C) in Level-2 of 7" CPC against 33% quota to be
filled by calling volunteers from all the Departments (except Accounts,
Stores & RPF) of BZA Division.

rkkad

As per the provisions contained in Para-189 of IREM, it is proposed to conduct a
selection for formation of panel for promotion to the post of Jr.Clerk cum Typist in Level-2 of

7" CPC against 33%% quota to be filled by calling volunteers from erstwhile Group-D
employees of BZA Division mentioned in below.

: Vacancies Total= 11 (SC=2, ST=0, UR= 06, PWBD= 3)

2. Service The employees who have completed TWO years regular service in the
conditions relevant grade on successful completion of probation period
and eligible | irrespective of fact that whether such staff belong to
staff GEN/OBC/SC/ST in terms of CPO/SC No. 58/2017 in the following
categories.

a) General Assistants (erstwhile Peons, Jamedar Peon/Duftary,
Record Sorter, Sr.Record Sorter, Ferro Printers) of all
Departments (except Accounts, Stores & RPF) of Vijayawada
Division.

b) Compound Gangman, Watchman and Survey Khalasis attached
to Civil Engg. Department.

c) Watchman attached to S&T Department.

d) Lascars and Caretakers.

e) Erstwhile Group-D staff working in Construction Organization
and whose lien is maintained in the above cadres (except
Accounts, Stores & RPF) of Vijayawada Division.

Note:

i)  In case of employees who have joined BZA Division on request,
the service rendered in old unit will count in the new seniority
unit provided he/she is otherwise eligible to considered for the
selection to the Group-C and the category in which he/she was
working in the old unit is an eligible category for selection to
the post of Jr.Clerk subject to the condition that the service
so rendered does not exceed the length of service of his/her
immediate senior in the new seniority unit (CPO/SC
No.41/2006).

ii) Staff working as Track Maintainers, Assistants (erstwhile
Helpers) of all Departments, Pointsman, Stores Watchman of
Civil Engg. Department and other erstwhile Group-D staff for
“h:lm Regular Avenue of promotion exists are NOT eligible to
apply.
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Typing skill
test

For promotions to Group-'C’ posts in the Ministerial cadre, Group-D
staff will be required to possess a typing speed of 30 WPM in English
or 25 WPM in Hindi. Promotions may, however, be allowed on
provisional basis and the concerned staff will be given two year time
from the date of promotion, to qualify the prescribed typewriting
test, and, if they fail to qualify the typewriting test within
the said period, they will be liable to be reverted (Para-189(iii) of
IREM).

Syllabus

a) Part- A : To test the working knowledge in English Language.

b) Part- B : To test General standard of intelligence and
proficiency through questions in Arithmetic, General Knowledge
mainly pertaining to Railway matters and also matters
immediately pertaining to the work the employee is acquainted
with during his service. (Authority: Para 189 (i) of IREM)

c) Official Language Policy and Rules. (Optional)

Selection
Procedure

The selection consists of a Written examination and Record of
Service.

Mode of
examination

In terms of CPO/SC No.212/2018, the question paper will be 100%
Objective Type with multiple choice only. Candidates are advised
to note the following:

a) To ensure the authenticity of the answers, cutting, overwriting,
erasing or alteration of any type in the answer will not be
accepted. Zero marks will be given for Answer having
correction/overwriting.

b) The duration of examination is 90-120 minutes.

c) Any distinguishing mark on the answer script would make the
answer script invalid. (CPO/SC No. 74/2014)

d) Further it is also advised that the candidate should use either
blue or black ink pen/ ball pen and all the answers should be
answered with the same colour.

e) Question Paper will be issued in bilingual i.e., in English and
Hindi.

Negative
Marks

There shall be NO negative marking for incorrect answers where
panel is arranged in the order of seniority. (RBE No. 194/2019).

No. of
questions

The test will have 110 questions. 10 questions (optional) will be on
Rajbhasha. If the candidate answers more than 100 questions, the
first 100 attempted questions will be counted/evaluated. Questions
attempted beyond 100 attempted questions will be ignored.

Qualifying
marks in
written
examination
& Eligibility
for
empanelment

a) The candidates must secure a minimum of 50% marks in case of
UR/OBC candidates, and, 40% of marks in case of SC/ST
candidates in order to qualify in the Written Examination
(CPO/SC No.38/1986). ]

b) For final empanelment, the candidates must secure a minimum
of 50% marks and above in aggregate i.e. Written Examination
and Record of Service in case of UR/OBC candidates, and, 40%
of marks and above in case of SC/ST candidates in_aggregate
i.e. Written Examination and Record of Service (IREM/Para-
189, CPO/SC No.15/2014, CPO/SC Lr. No. P(R)605/XI,
dt:22.08.07 and P(R)605/XV, dt: 11.07.2022) in the order of
seniority/ interse seniority restricting to notified vacancies.

c) The relaxation in qualifying standard for SC/ST candidates
against reserved vacancies ONLY.

10.

Other
conditions

The selected employees are liable to be posted anywhere on BZA
division. A declaration to that effect should be given by the
volunteers which is incorporated in the application.

Fe
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Bank www.scr . indianrailways.gov.in=> About us=> Divisions SVijayawada |
Division->Personnel Branch-> CLICK HERE- Jr.Clerk cum Typist |
13.1/3 LDCE quota. However, Question Bank is attached.

]
Question bank is only indicative in nature but not exhaustive. The
volunteers are advised to update their knowledge keeping in
accordance with the changed- technology and job requirement
with latest Rules/circulars/policies.

The controlling officer/supervisor has to ensure that the question
bank is circulated to all the eligible staff and holding of selections
will not be postponed/delayed due to non-circulation of question

N S banks. — -
12. | Venue & Date | On 18.06.2023 (SUNDAY) at ETTC/BZA. The eligible
of employees are hereby alerted to be in readiness to appear for the

Examination | written examination. This may be treated as notice for examination also.

13. ow to a

(i) Employees should submit application in the prescribed Proforma enclosed at
Annexure-A only.

(i1) Application should be forwarded through proper channel. The application should be
on good quality of A-4 size paper using one side only.

(ifi)  Applicants should fill up the application form in their own hand writing in CAPITAL
letters with BLUE/BLACK black ball point pen only.

(iv) Al the relevant columns in the application should be filled completely & strike out
the inapplicable columns. Applications of the eligible employees filled in all aspects
should be forwarded by the controlling supervisor/officer wherever required or
otherwise same will NOT be considered.

(v) Employee should paste the recent photograph on the application, which shall be
attested by the concerned supervisor/officer.

(Vi)  Candidates are advised to indicate their personal mobile number and valid e-mail IDs
and keep them active for communicating the information regarding the selection.

(vii)  Candidates are further advised to visit SCR website to get the latest information.

14.0 _ Invalid appl

(M) Application NOT in prescribed format.

(i) Employees NOT fulfilling the conditions mentioned in this notification.

(iii) Application  without photograph/without signature/without forwarded by
officer/supervisor concerned and Incorrect applications.

(iv) Applications received after the last date.

(v) Applications which are filled in a language other than Hindi/English.

(vi)  Leaving any column blank in the application form.

(vii)  Suppression of facts or furnishing false information in application.

(viii)  Any other irregularity.

15.0 __ Notifying to the staff:

15.1  The controlling officer/supervisor shall give wide publicity of this notification to all
the eligible staff working under their control and notification should be displayed at
conspicuous place. It is the responsibility of controlling officer/supervisor to circulate
the notification among the staff concerned including staff on
leave/deputation/training/sick or working in other units.

1%06S.2%

Jr.Clerk cum Typist 3};-35 quota Notification, dt: 18.05.2023
Page 30of 7



15.2

In terms of CPO/SC's SC No.212/72, the Senior Subordinate/Supervisor concerned has
to furnish a certificate that “the eligible candidates were duly notified of the holding
of the test and asked to submit their applications duly giving their willingness” and
forward the same to this office. It should be the personal responsibility of the Senior
Subordinate /Supervisor to complete the formality in this respect. It is further
advised that any other communication received in respect of the selection should
invariably be intimated to all the eligible employees. In case of non receipt of any
communication the same may be obtained from the Personnel department or from
the Controlling Officer. Any laxity in this regard will be viewed seriously.

It is the responsibility of the employee to ensure that the educational qualifications
will be entered in their Service Register.

This being a selection, NO supplementary written examination will be conducted.

General Conditions:

17.0

Employees before applying should carefully read the instructions and ensure that
he/she fulfills all eligibility conditions at the time of submission of applications.

Mere empanelment does not confer any right of promotion to the candidates.
Admission of the employee at all stages will be purely provisional subject to satisfying
the prescribed conditions.

Due care will be taken in verifying the employees’ details from Service Register.
However, each employee is also equally liable & responsible to furnish his own
service particulars including charge sheets/awards in the application, and, also
equally liable & responsible for non-furnishing of service particulars in the
application.

Important Dates :

(i)

Last Date to submit the applications to their controlling 08.06.2023
supervisors/Officers R

(if)

Applications in one bunch with covering letter duly mentioning | 09.06.2023
the candidate details addressed to APO/Engg/BZA

| (iii)

Date of issue of Eligibility/ineligibility list 12.06.2023 |

(iv)

Date of examination.  This may be treated as alert notice for
written examination. 18.06.2023

18.0

Encl:

The notification is uploaded in SCR website
www.scr.indianrailways.gov.in - About us - Divisions - Vijayawada - Personnel

This has the approval of Competent Authority.

1) Application Proforma 02 pages at Annexure-A g{
2) Syllabus at Annexure-B

A
)@ 05. 2.3

(B.Saila Sudhakar)
Asst. Personnel Officer/Engg.
For Sr.DPO/BZA

Copy to:

1) AUl Branch Officers/BZA Division. 2) DPO/BZA & all APOs/BZA Division.
3) Ch.0S/Con. Section 4) OS/IT Cell: for uploading in website.

5) DSs:SCRES, SCRMU, AISCSTREA, SCROBCREA/BZA division.
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ANNEXURE-A

1. Name

(in CAPITAL letters)
& Designation
3. GP/ Level

4, Office /Unit

5. PF/NPF No.

6. Date of Birth

7. Date of appointment

Community (UR/SC/ST)
8. Attested copy to be enclosed by
SC/ST employees)

9. Contact Number (Whatsapp)

Whether belongs to PWBD
10. | (YES/NO). If YES, enclose

attested copy of certificate.
11. Service Particulars as on date of notification:
Post worked From To Length of service as on
as date of notification

12. Educational Qualifications:

Qualifications Date of passing

Attested copy enclosed (YES/NO)

SSC

Inter/ Diploma

Degree

PG

13. Awards (Copies to be enclosed)

Particulars 2018-19 2019-20 2021-22

DRM Award

PHOD Award

GM/Railway Board Award

Page 50f 7
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13.  Penalties/Punishments (copies to be enclosed) \

Particulars 2018-19 2019-20 2021-22
SF-11

SF-5

L Undergoing penalty, if any

Declaration

| hereby declare that the particulars furnished above are true, compl_ete and
correct to the best of my knowledge and belief. | have read contents of the notification
carefully and agree to abide by the rules, regulations and procedure prescribed for the
above selection. | understand that at any stage, if it is found that | do not satisfy/fulfill
the eligibility criteria, my candidature/ appointment on promotion is liable to be
cancelled. | understand that at any stage, if it is found that the information fumished
by me is false/incorrect, my candidature/appointment on promotion is not only liable to
be cancelled but also liable for disciplinary action as per rules.

Date:
Photo

Station: attested by

Supervisor

/ officer
Signature of applicant
Forwarded to APO/Engg./BZA with reference to
Sr.DPO/BZA Lr.No. SCR/P-BZA/209/EP/P9/PRQ/Vol.6, dt: 18.05.2023

Date
Station

Signature of
Supervisor/Officer with stamp

Certified that particulars fumished by employee from S.No.1 to 12 above have been

verified and found correct as per Service Register and the length of service of employee
as on date of notification certified as under:;

Total length of service
Years Months Days

Signature of Cadre Officer
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ANNEXURE-8

Syllabus for Written Examination for Selection to the Post of
Jr.Clerk-Cum-Typist against 33%% LDCE Quota

a) Part- A : To test the working knowledge in English Language.

b) Part- B : To test General standard of intelligence and proficiency through questions in
fsl'lthmetjc, General Knowledge mainly pertaining to Railway matters and also matters
immediately pertaining to the work the employee is acquainted with during his service.
(Authority: Para 189 (i) of IREM)

Official Language Policy and Rules. (Optional)

Part-A | English Language | 50 marks |
Meanings, Antonyms, synonyms, sentence correction :.
{preposition, conjunction, verb, tense usage, articles, |
Compression passages, Direct and Indirect speech. :

|
|
i
1
|

Part-B | General Knowledge & Arithmetic

1) Basic General Knowledge and current affairs 1

1. Indian Railways organization structure- Railway Board, |
Zonal Railways, Divisions, Production units etc.

2. South Central Railway Zone - Organization structure, |
geographical  jurisdiction, important stations,
important loading points, important tourist locations
etc.

3. Historical and current personalities and places of {
national importance. E

4. Current General Knowledge about Indian government
(Examples: Important offices and Ministers etc and
sports & Sports personalities.

1)) Arithmetic

Multiplications, Averages, Percentages, Simple &
Compound Interest, LCM & HCF, Problems on Age,
Problems on Trains, Time & Work, Profit & Loss, Speed &
Distance etc.

Part-C Rajbhasha (optional 10 marks

The question paper shall also contain questions on official
language and policy and rules to the extent of 10% of the
total marks allotted, which will be optional

it may be noted that the list of topics is only illustrative and not exhaustive.

e

(0525
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Question Bank for selection from Group D to Group C (Jr.Clerk)
(33 '/5_% Promotion Quota)
T. ¥ford:

A. MATHS:
1. ol &L Simplify: 2/3 + 49 x 7 '/, + 99,9 x 245.
2. el ®Y_Simplify: *'/»s divided by °hHy x /1, divided by '’
3. & &L _Simplify: 5 x 5 minus 5
5 divided by '/s
. ol &L _Simplify: 10 - [41 — {28 + (12 - 3 - 1 )}]
gl &Y_Simplify: 3.732 x 3.732 minus 1.732 x 1.732

3.732 plus 1.732
gl {_ Simplify: 1.5 + 04 (2 - 0.5) + 0.1 + 0.4

6

7. gl &L Simplify: /g of g + g divided by Y.

8. o1 HL_If 1/3.718 = 0.2689, then 1/0.0003718 = ?

9. Rl Tpar F oHET # FEd # 49 wsH § AR 125 wstear § O

oI5 fohdel § ?
In a school 4/9 of the pupils are boys. There are 125 girls. How many
boys are there?

10.af¢ If A:B = 3:4 3R and B:C = 5:6, find A:C &I IdT ofdMu<: ?

11.3f¢ If xiy = 3:4 3R and y:z = 4:5, find xiy:z ST Gl SFMU?

12.3f¢ If A:B = 2:3 3iR and B:C = 9:5 find A:B:C & UdTl MU 2

13.3f¢ If AB = Y5/, 3R and B:C = */4;:%5 Find A:B:C & Ul @MU ?

14.3f¢ If R:S = 0.01:0.11 3R and S:T = 2.2:1, Find R:S:T & 9dT M7 ?

15.78 Thol A TR Al & Fdld W1 g @arm &1 75 T H
1'/, T[T SOT FA & MAT  [@T @RT AT 37 FuT 4 TA R T2=—A

HIA §. FFATH Hod H Al Y ST F AT FHT Il o9y,

In a school, Under Sanchayika Scheme, Rekha saves 1]/2 times the savings of
Bindu, Geeta saves 4 times the savings of Rekha. Find the ratio of the
savings of all the three in least terms?

TN

16.fdr TR Y T AR S A 1 1/4 1 1 2/3 & HeJurd H SlEr I I T
d 360/- TUC Al dl e AR AR & & REY #1 gar @,
A certain sum of money is divided between A and B in the ratio of 1'/, :

1?/3 and A got Rs. 360/-. Find the total sum of money and BTs share?



17758 SR #H ™R 3R o & ddd & 3qardT 15:7 §. 3 Folh
FT ddd FERT & IJaa T 720/-F FH § A YA &1 dded & Tdl
AT,

In an office, the ratio of the salaries of an officer and a clerk is 15:7. If the

salary of a clerk is Rs. 720/- less than the salary of the officer, find the
salary of each?

18.79R 9RWE & g #H g 3FAEART & 13119 & qua 7 dic Ae.
I g T IFAEAR F gE IFAGAR & 312 die SFrEr fAe gt ar
i 3FAIGAN & dlc &l Tdl ofamue,
In an election to a municipal council, the votes secured by two candidates are

in the ratio 13:19. The elected candidate gets 312 votes more than the second
candidate. How many votes are secured by the second candidate?

19.felr wfer &1 Ffd AR g@e & &= 3 1/7 0 2 2/3 & Ui A el
AT, I FA B OGEE F 120/- T SFEr Al g dr gde & BEd @
qdT oM.
A certain sum of money is divided between Murthy and Prasad in the ratio
3'/; 1 2%/5. Murthy gets Rs. 120/- more than Prasad, find the share of each?

20.fhehe TFE Y@l H U AR dga & A 519  F Aqurd A dUr
dgerht 3R R & T 67 & 3aid & . I 3R & U] § 187 @
SIET AT § dl el GaRT T T T AT Il @M,
In a cricket test series, the runs made by Raju and Tendulkar are in the ratio

5:9 and Tendulkar and Azar are in the ratio 6:7. What are the runs made by
them if Azar makes 187 runs more than Raju?

21.@ar AR ofdr & gRERT # aif¥es 3T 4:3 F qUT # § AR aides
¥g 32 & U A g I 3Ah sud a¥ # 3000/~ & § A St
aif¥er 31 & 9dT ofemT.
Annual incomes of the families of Sita and Latha are in the ratio 4:3 and

their annual expenditure are in the ratio 3:2. What is their annual income if
they save Rs. 3000/- in a year?

22. 10 g&dept T HAT 80 FAT §. 15 EAR H HAT HT Il o@mu,
The cost of 10 books is Rs. 80/-. Find the value of 15 books?



23. 48 9t urd Fr FrAT 16,800 T g 36 Sy U F HHAT H g4l

SCIILY

The cost of 48 bags of paddy is Rs. 16,800/-. What is the cost of 36 bags
of paddy?

24, 4 AT I 9RER &1 AMde <7 2,800/- . § . I gRaw & 3

HSE g dl gF & 9dl @I,
Monthly expenditure of a family of 4 members is Rs. 2,800/-. What is the
expenditure if there are 3 members in the family?

25. gfe 12 a3t & fav 18 oo =@ i mavgshar § o 30 wEit & fov

fhdel &7 91®@ $T aThdr grei ?

If 18 tones of grass is needed for 12 cattle. How many tones of grass is
required for 30 cattle?

26. afg 80 =afda fordl & &1 10 ot & Q@ &< F&d § ar 40 =afeq
3w A fhae feoll # Q@ A Hhd B 2
If 80 men can do a piece of work in 10 days, in how many days can 40
men do the same piece of work?

27.3f¢ 80 =afda el &1 &1 10 feadt & @@ &R Fea § o 20 =afed
3 R @ fhaa oAl 7 QU # e §?
If 80 men can do a piece of work in 10 days, in how many days can 20
men do the same piece of work?

28.3fc 80 =gfga frdl & & 10 feall # G & Hehd § o foheol
i 3 HF F AR feA A QO T Fhd §?

If 80 men can do a piece of work in 10 days, how many men are required
to do the same work in 4 days?

29.3f¢ 80 =gfda frdr &4 & 10 feall # G & Hehd § o fohcol
i 3w # A oA H QoA Fho g ?

If 80 men can do a piece of work in 10 days, how many men are required
to do the same work in 2 days?

30.3f¢ 36 cafdd forell &1 1 12 oAl & qU & Hhd § @ 9 gfEd
3w @ e Gl A U A Hevd §?
36 men can do a piece of work in 12 days, in how many days 9 men can
do it?



31.18 =afed 10 Tt # $3m We Fhd ¢ 4 e FH A & §g 30T
IR G@l 7 S Q@@ we & v AR fde el @ @afed s
gra 2
18 men can dig a well in 10 days. After they have worked for 4 days, how

many more men shall be employed to complete the work in 4 days from
then?

32. 35 BErN F 24 & & v A9 99R 6300 9T g 25 oE & fov

3375 %. fhae f&al & fow gem ?

The mess charge for 35 students for 24 days is Rs. 6300/-. In how many
days will the mess charges be Rs. 3375/- for 25 students?

33. 8 cFfddal & faw 20 feat & fow 480/-%. #Hed & daeT &I IMaLThdl

gl 12 sgfdaal & 15 et & fav 3feia arae &1 Hod &ar g ?

Rice costing Rs. 480/- is needed for 8 members for 20 days. What is the
cost of rice required for 12 members for 15 days?

34, 10 gfera 75 fr.d. ot @s% 5 feal & 9T a g 45 F.AL o«
sh A 15 afed hde Gt & 9or d@oa g 2

10 men can lay a road of 75 Km long in 5 days. In how many days can
15 men lay a road of 45 Km long?

35.24 gfd 8 wel yfdfed $ &d gu fhalr & A1 15 oAt # @
Fhd & 3E HF A 20 AP 9 e gfafed F Fd gr fhae feet
A Q@ & Fhd g7
24 men working at 8 hours a day can do a piece of work in 15 days. In
how many days can 20 men working at 9 hours a day do the same work?

36.175 =gfed 3150 #HeX o« 7Y 36 6ol # @i Fhd 8.3900 HeX o«
deY A 24 AT # @igat & v fhds safdaal v sexa gl ?

175 men can dig a canal of 3150 metre long in 36 days. How many men
are required to dig a canal of 3900 metre long in 24 days?

37. afg Tl a&q T oWId Hed 10 ¥9C § 3R fOha gog 12 303 g an
M AT g TohdeT § ?

If the Cost Price is Rs. 10/- and the Selling Price is Rs. 12, What is the
Profit or Loss?



38. fe forell q&dsh o &1 &N e 10 U0 & 3R Oy go 12+

g o 100 Y& 9T ofeT AT @il foveterr & 2

If the Cost Price of one book is Rs. 10/- and the Selling Price is Rs. 12/-
what is the Profit or Loss on 100 books?

39. I feTd Hed 500 %. ¢ 3R @mer 50 €. § o oy Hqew Fm B ?
If the Cost Price is Rs.500/- and Profit is Rs.50/-, what is the Selling Price?

40.9f¢ 10 Y &1 & oEIT Hed 5000 ¥9C § AR @My 500 F9C § oAV

A% @Y Ul HT fahT Hed Fr B ?

If the Cost Price of 10 bags of Paddy is Rs. 5000/- and the Profit is Rs.
500/- what is the Selling Price of each bag of Paddy?

41,71 fasha Hed 6 9T ¢ 3R gifal 0.50 38 & o %7 Hou Fa1 § ?
If the Selling Price is Rs. 6/- and loss is Rs. 0.50 ps, what is the Cost Price?

42.7f¢ AN Hed 640 U § AR Taha HAew 680 T0d § ol omT v

gfaerd fohder § ?

If the Cost Price is Rs. 640/- and Selling Price is Rs. 680/- What is the
Profit percentage?

43,91 oWIT Hed 528 TV § 3R oM 44 TOd g oY T Hed FAT §

IR o FT wfard  fhdem § ?

If the Cost Price is RS. 528/- and Profit is Rs. 44/- What is the Selling Price
and what is the profit percentage?

44w qEdew Ikl 144 w00 & vh A 98 @lear § 3N 2 v gfd
9@ 7 T & JTar § o IT gy @1 gfaerad §arw ?

A book seller brought a gross of pencils at Rs. 144/- and sells the same in
retail at Rs.2/- per pencil. What is the Profit or Loss percentage?

450 Trd®  fahar 100 T H wH JA TG IR @ledr ¢ 3R 6 Fe

50 99 & 24 ofic STar § oY AT g §dre ?

A bookseller brought a ream of white paper for Rs. 100/- and sells at 24
sheets for Rs. 6.50 ps. Is there any profit or loss?

46.T% 93 NN UH FosT 800 FWU FH TG § AR 10 gfderd oy w
ST § 988 & R Hed adi ?



An animal trader buys a calf for Rs. 800/- and sells at a profit of 10%what
is the selling price of the calf?

47.T%h 99 ORI TH T 1200 T A @lear § AR 8'; gfded gifd @

SUAT § T @ AT Hed ddl ?
An animal trader buys a cow for Rs. 1200/- and sells at a loss of 8'/5 %
What is the Selling Price of the cow?

48.9fe U a&q #1 Jfhd Hed 54/-%. & 3N 6 % F Qe g O oy Hew
gdrg ?
If the Marked Price of an article is Rs. 54/- and discount is Rs. 6/- what is
the Selling Price?

49.9f wh aEg 1 AT HoF 42/-%. § AR 3 T &1 ge § o 3Hihd
Aed  FdIW ?
If the Selling Price of an article is Rs. 42/- and discount is Rs. 3/- what is
the Marked Price?

50.3f¢ Uh aE] T fhd HeF 20/-% § AR 2 T # ge § d g #

gfaera same ?

If the Marked Price is Rs. 20/- and the discount is Rs. 2/- what is the
discount percentage?

51.9f¢ fas%ha #eg 35/-%. § 3R 5% &1 gc § o g & glderd aare?

If the Selling Price is Rs. 35/- and the discount is Rs. 5/- what is the
discount percentage?

52.91¢ @¢ 20% § 3R 3ifhd Hex 250/ & o fawa #eg  §ard ?

If the discount is 20% and the Marked Price is RS. 250/- what shall be the
Selling Price?

53.3f¢ U a&q @ ifhd Hed 1280/-F. § 3HR3 1/8% & Be § o fawa
Hed Fdme?
If the Marked Price is Rs. 1280/- and the discount is 31/3 % what shall be the
Selling Price?

54 @isfehel @1 3ifehd #Hed 1280/-%. & 10% & ©c oo W 72/-%. @0
STH BT §.5F Hed  FdUe ?

The marked price of a cycle is Rs. 1280/-. By allowing a discount of 10%,
it gives a profit of Rs. 72/-. Find its Cost Price?




55. ¢ ol 45/- % § AN s f @ 5% 9fa ¥ § I a¥ A e

gl gl ?
If the principal amount is Rs. 45/- and the rate of interest is 5% per annum,
What shall be the interest in three years?

56.7 &sT 1000/- &. § 3N =&reT &I &T 6% 9id a¥ § e a¥ ©F #Hge
H fordem sarar gl ?

If the Principal amount is Rs. 1000/- and rate of interest is 6% per annum,
what shall be the interest in 3 years six months?

57.5% 9id a¥ sATel & & W & a¥ A b 50 U0 & AU e
fhdar gl ?

On what Principal amount the simple interest payable shall be Rs. 50/- in 2
years at the rate of 5% per annum?

58.5V4% 9Ufad ay surel T T WX Us gy did Hgled H IrearRor sa3rer 31.50

TIU & AU Horered  fohctar glam ?

On what Principal amount the simple interest payable shall be Rs. 31.50 ps in
one year 3 months at the rate of 5, % per annum?

59.6.25% 9fad a¥ sareT T &X W & ay did #;d A I 8312759 &
T Herered fehcar grem ?

Find the Principal amount if the simple interest paid is Rs. 312.75 ps in 2
years 3 months at the rate of 6.25% per annum?

60.af¢ 60/- TAu & A 9T ar auf H 3/-F. AT T g W Wia ay
sIToT ¥ Tohdell B9 2

What is the rate of interest per annum, if the interest payable is Rs. 3/- in
two years on a sum of Rs. 60/-?

61.3f¢ 180/- TUT Hr UMY W & a¥ IR HAGT H 42/-F. AT & gl W
gfa a¥ sarT T ohaem gem ?

What is the rate of interest per annum, if the interest payable is Rs. 42/- in
two years 4 months on a sum of Rs. 180/-?

62.af¢ 1080/- TUT I [N 9T af a¥ S AGAT H 90/-F. sTTST T gl
W 9fa a¥ I & e gem ?

What is the rate of interest per annum, if the interest payable is Rs. 90/- in
two years 6 months on a sum of Rs. 1080/-?




63.6% 9fad ay saref &X W fovasr @ag & 1250/- & Fr iy 1400/- 392
gy 2

In what time will Rs. 1250/- amount to Rs. 1400/- at 6% per annum?

64.3% 9fad a¥ & ¥ W 1000/-%. Hr I W 4 a¥ & v AT TS
fohdeT g ?

Find the simple interest on a sum of Rs. 1000/- for 4 years at the rate of 3%
per annum?

65.2% wfad a¥ &1 T W 250/-3. i Ty W 4 gy & fOr gE=g T
fohdar ghem ?

Find the simple interest on a sum of Rs.250/- at 2% per annum for 4 years?

66.4% 9fd a¥y &r T W 4000/-%. Fr TR W 6 AL & v FHT T
fohdar grem 2

Find the simple interest on a sum of Rs. 4000/- for 6 months at the rate of
4% per annum?

67.2% ufday & ax 9¥ 800/-%. Hr TR o 4 a¥ & U AT TS
fohdarr glem ?

Find the simple interest on a sum of Rs. 800/- for 4 years at the rate of 2%
per annum?

68. 3 U ufd #FEAT Fr X W 10/-3. Fr AN W 4 AL & v &=
SIS Tohdall BT 2

Find the simple interest on a sum of Rs. 10/- for 4 months at the rate of 3
ps per rupee per month?

69.6% @ aX W 5000/-%. & TR W Tk a¥ & fAv Iy af¥e Thafg I

W STl TohdeT g ?
Find the amount in 1 year compounded half yearly on Rs. 5000 at 6%.

70.@%@%@33&@2034@'3&17%%@.3@%%%
gfaerd fohder ghem ?

Sunitha scored 17 marks out of 20 in Mathematics. What is her percentage
of marks?

71058 T # 1500 o § e & 20% AEaA € 15% S € 3R
Ay feg 8. Thel & g3l &1 F&ar admw ?



There are 1500 students in a school. Out of which 20% are Muslims, 15%
are Christians and the rest of Hindus. Find the number of Hindus in the
school.

7278 ag B SerEEar 1000 g SeH @ 44% 929 35% HAigen? 3R
AY g §. g<dl T J&IT gdrd?

The population of a village is 1000. Out of which 44% are men, 35% are
women and the rest are children. Find the number of children in the village?

73.T% IfFd & 9 800 TUT A, Ieglal IGHT 25% WI HAT. 394 g

AY  fhdsr FUT ST giar ?
A man had Rs. 800/-. He spent 25% of it. How much had he left?

7479 3 FAUR F PT W H wElewid & AT I3gar & v 50% 3k
Wmm.uﬁ:ﬁlﬁaﬁwyﬁsﬂiﬁﬂaﬁﬁﬁw
g ar & ar Af¥ead 3 fohdar gem ?

A Group D employee has to secure 50% marks to qualify in the examination

for promotion to Group C. If he gets 163 marks and fails by 37 marks, find
the maximum marks?

75.Wh Thet # 500 B B 39 & 100 sE 4, 200 @R @ R AW
Yo Thol 3T §. Yool HTedarel & HT giaerd adi ?

There are 500 students in a school. 100 of them come to school by bus, 200
come by bicycle and the rest by foot. What percent students come by foot?

76.AH, A AR ARG A swAA: 8000/-, 12,000/- IR 15,000/- ¥ &
UR IRA fRar. ok a¥ & a1 #A 7000/-%. o H IAd REAT
fehctetr glam ?
Ram, Sham and Gaurav started a business with Rs. 8000/-, 12000/- and
15000/- respectively.Find their shares of profit of Rs.7000/- after one year?
7778 3R AU A HAA: 4000/-30 6,000/- . ¥ MR IRHA fHar. wh

ay & ai¢ & 1000/-TemsT g3. 39H AGY & gEar fohdar gem?

Mahesh and Ramesh started a business with Rs. 4000/- and Rs. 6000/-
respectively.  After an year there was a profit of Rs. 1000/-. What is the
share of Mahesh in the profit?

78547 THFH & WUR H 4 AG & v 450/-%. 3R I 7 3 70 & v
600 TgT fAaer fRar. 400 TUT & o1 H & as Fr {FEar fhaar gem?

Mr.X invested Rs.450/- in a business for 4 months and Mr.Y invested
Rs.600/- for 3 months. What is the share of Mr.Y in the profit of Rs.400?



79.TH7 3R I\ A HAw: 4000 F. AR 6000 % F AA UT H AR IRH

fFar 3 1500%. T o SAR. I3 ARNER &1 {Ear frdar gem?

Ram and Shyam started a business with capitals of Rs.4000/- and 6000/-
respectively and made a profit of Rs.1500/- what is the share of each of the
partners?

80.T, & 3R & & AW 5000 %, 7000%. 3T 8000 ¥ & Hel &l &
IR AR fhar. a¥ & Hd A 800 FYT HT @M I YR HeMER
o1 feedr fehder glem?

A, B and C started a business with a capital of Rs. 5000/-, Rs. 7000/- and

Rs. 8000/- respectively. At the end of the year there is a profit of Rs. 800/-,
find the share of each?

81.7,10,12,15 3k 16 &r 3dad Fa1 gRM?
Find the average of 7, 10, 12, 15 and 16?

82.%9 .50 9, <0.50 99, T8 .50 &, T5.50 99 @ 3fHa @@r gHm?
Find the average of Rs. 9.50 ps., Rs. 0.50 ps., Rs. 8.50 ps., Rs. 5.50 ps.

83.Ush ¥ dldl o Ugel foeT 20 eex, g@v fear 17.5 ofiex 3R R fear 21
MY gy <. 3Hhr 3Hrad fashr &= gref?

A milk man sold 20 litres of milk on first day, 17.5 litres of milk on second
day and 21 litres of milk on third day. Find the average sales of the milk
man?



84.9MST U ©C A 52 fhaAl |, gl ©e A 60 fhAAr IR ey @ # 58
fhAlell qa & & 9l g¢ # 9 # WUl & SROT ST hael 26
forafl. &7 gt dF #X gl IS dr AT AT =1 geir?

A train traveled 52 Kms., in the first hour, 60 Kms., in the second hour and
58 Kms in the third hour. In the fourth hour there was a trouble in the
engine and it could run only 26 Kms, Find the average speed of the train?

85.2Y sed 3R 3otoh TOar &1 e 3y 17 a¥ §. ar sed 3R 3o AT
dr 3Ed g 15 avy B gie Nar @ 3y 36 a¥ § ar A S oIy
FIT BIA?

The average age of two children and their father is 17 years. The average
age of the two children and their mother is 15 years. If the age of the
father 36 years what is the age of the mother?

86.91d WexaAT HT AT I 40 § IR 37 & AT H 3T I3y 28 &
IV IR AfFa i ad Iy F=w ge?

The average age of seven members is 40 and the average age of three of
them is 28. Find the average age of the other four?

87.U frE w &1 6 feall # dur & 36 & A 12 &l & q ¢ Hahd
g. I 3 el A X S X o 37 dF @ b Gt & @@ o
ETS S
A can do a piece of work in 6 days and B can do the same work in 12
days. How long will they take to complete it, if they both work together?

88.31fa1er 3R gelter Al AT o el ®F &1 8 feall & g o< Fhd &
AT 3ehel 30 BT H 12 Al A QU A Gohell 8. 30 SR AT Folrel
fordet Rt & QU aX F&ar &2
Anil and Sunil work together and finish a work in 8 days. Anil alone can do
it in 12 days. How many days will Sunil take to finish the work alone?



89.T9] el #F & 3 €& A G W Hehal §. FdlaT 38 ®F H 6 Hel
# QU N Fhal §.3¢ F Al AT & & & d 30 S A fhdel
AT A QU & Fhd §.

Raju can do a piece of work in 3 hours. Navin can do it in 6 hours. How
long will they take if they both work together?

90.T R & 1 15 feal & , &t 34T & 1 25 feal dgar & 38 30
el 7 o aX #&d § I 3 & & AT X & & ar 39 FF &
fohcel feadt & @@ & w@ha &

A can do a work in 15 days. B in 25 days and C in 30 days. How long
will they take to do the work if they work together?

91.5978+6134+7014=? A)16226 B)19126 C)19216 D)19226

92. 18265+2736+41328=? A)61329 B)62239 C)62319 D)62329
93.39798+3798+378=? A)43576 B)43974 C)43984 D)49532
94.9358-6014+3127=? A)6381 B)6471 C)6561 D)6741
95.9572-4018-2164=? A)3300 B)3390 C)3570 D)7718
96.7589-7=3434 A)721 B)3246 C)4155 D)11023
97.9548+7314=8362+? A)8230 B)8410 C)8500 D)8600
98.5358X51=? A)273258 B)273268 C)273348 D)273358

99.360X17=? A)5120 B)5320 C)6120 D)6130
100.587X999="? A)586413 B)587523 C)614823 D)615173

101.935421X625=? A)57564125 B)584638125 C)584649125 D)585628125
102. 12846X593+12546X407=? A)12846000 B)14203706 C)24038606

103. 1307X1307=? A)1601249 B)1607249 C)1707249 D)1708249



104. 3fas & 75, 65, 82, 67 3 85 3i ured forv 3igT 37 FdU.

David obtained 75,65,82,67 and 85 marks(out of 100).What is his average
mark?

105. T YEddrerd H AAaR & ot 510 TfFd dur 3= f=r & 240
cafed 3 g, WAaR @ Y& 8 arel 30 feat & #G & 3itaa 3ufeufa
Fa1 g ?

A library has an average of 510 visitors on Sundays and 240 on other days.

The average number of visitors in a month of 30 days beginning with Sunday
is?

106. T& oA H 3 d¢ fraem gfderd 872
What % of a day is 3 hours?

107. 3.5 9.7 = ufaag & ----—-- EAT ST TehdT §.

3.5 can be expressed in terms of % as

108. ﬁoﬁqﬁmﬁﬂommymﬁ%zﬂv‘rg@
3cdol gfderd - - g.

270 candidates appeared for examination of which 252 passed. The pass %
is

109. & afFad 1400 T. & Osfehd @lear § dur 155 % g &
ST §. Asfehel &l fahd Hed T § ?

A man buys a cycle for Rs.1400 and sells it at a loss of 155. What is the
selling price of the cycle?

110. 3Ifg Ta@rd=2:3:4 § ar wardH/Ad/T ——— F FTqR & ?
If A:B:C = 2:3:4, then A/B:B/C:C/A is equal to:

111, Ifg =23 fA=4S5 iR @g=67 g AT © & T 3 - § ?
If A\ B = 2:3, B.C = 45 and C.D = 6.7, then A:B:C:D is:



112. T w¥elie 200 X 7 &I 24 s H QU AT §. 3HI AT AT
g ?

An athlete runs 200 metres race in 24 seconds. What is his speed?

113. 6 ©IF T 9uT H 50 H & HAM: 34,23,29.32.11,43 3i ured ad

§. 3 &1 3aa F=ar g ?
6 students secured 34, 23, 29, 32, 11, 43 out of 50 marks in a paper.
What is the average of the marks?

114, frh Ther 7 107 wem & vandr 3R & daeet F 44,46,38,40 o1

g. HeT H 3ad oF fhas § ?
There are 44, 46, 38, 40 students in A, B, C & D sections of 10" class in a
school. What is the average students in a class?

115. 7%2% 9fd a¥ & sl &X & 2000 9 5 auf & v @ramer s
fehctetr grem ?
What is the simple interest for Rs.2000/- at the rate of 7 € % p.a. for 5
years?

116. a¥ 2000 & SRUET & AT fRAT ATT &I ST9a&AT 27860 ot Iy

2005 T STAAMOEAT H FATEIT 5% dG1. SAaear #H gfg Rl § ?
The population of a town during 2000 census was 27860. During 2005

census the population has increased by 5%. Calculate the increase in
population.

117, 5 wdarly 1 el gl 17650 &. 8. 3@ @ RAefafad
Felfaar $ 8.
wiasy fAfr - 1060/- &, &1.f3. 5000/- HF=T AT 8ccm - 1260/~ T8
AT A - 2300/- R H#fFF - 150/- AShams v - 30/-

FIEaife & - 150/- 391 Aad add fpdar & 2
The total emoluments of an employee is Rs.17650/-. Out of this following

deductions are made: PF - 1060, VPF - 5000/-, HRA- 1260/-, HBA - 2300/-,

Festival advance 150/, CGIS-30, Professional tax 150. What is his take home
salary?

118. 10% vfday & & & 6000/- T. & Helted W 2 aul # qshdfg ATl
fhaem g ?

What will be the compound interest on a principle of Rs.6000/- in two
years at the rate of interest 10% p.a.?




119. 90 F.ar g & afd & s TS 112 g IET FCAT g, dF T TS
CRURE TG

A train travelling with 90 KMPH speed covers a distance in 1 %2 hours.
What is the distance ?

120. T & 1,35,000 ¥9aF H TH SR WGl IR FAT & e 25,000
U @Y feU. I g 10% o AT g dl SR A G {ed
=T g ?

A purchased a car for Rs. 1,35,000/- and spent Rs.25,000/- for repairs. At
what cost the car was sold if he earned 10% profit on it?

121. 72 AT, afd & gde arelr 70 Hiex o« mar 130 Hier o6l
Tl & fhdsl IFT H IR aXdl & 7 95T As H gdI0.

How long a train 70 mts long travelling 72 KMPH per hour? Take to pass a
station platform of 130 mts long. The time should be given in seconds.

122. T el A W AN Hed @ 10% 36 Hed 3iferd wLar § ao
AT W 10% & T &aT §. 3edeh o1 AT g1l 1 Fiaderd foheferm § ?

A dealer marks his goods 10% above the cost price and allow 10% discount.
What does he gain or loose percent?

123. T @EEE H 50 dgar & Ow 40 feal fr w@e & Ife 31w 30 s==

AT g ar g e fohda fear & T ol ?

In a Hostel of 50 boys there are provisions for 40 days. If 30 new boys
joined how long will these provisions last?



124, vdrvgagd 95 fRarga. & i aifd @ @elide § @ehetEr |
ger 50 fAde & Jgach & Rdetste AR Fefde & &g g fhde &2

AP express running at an average speed of 95 KMPH reached Kazipet from
Secunderabad in 1 hour 50 minutes. What is the distance between
Secunderabad and Kazipet?

125. 40 X Apreed Fus H HAT 2440 % §. 22 AX FUS & Hod
Fgr grefr?

The Cost Price of 40 mts of terricotton cloth is Rs. 2440/- Find the cost
price of 22 Mts?

126. U dadl fafs & Her gg # HAARAT AT P HA & dG
frfaf@d Aeg oot & oAic aur e a9 o, &7 & 3@ 7 ad«
%ﬁm%wwmrﬁa’r?

A pay clerk has the following denominations of currency notes and coins left
in the cash box after payment to the staff: What is the total amount with the
pay clerk at the close of the day?

sIc Notes et & | ey Al Y
&am Coins T
Number Number
of notes of coins

Rs. 100/- %. 157 T ¥ er |25

& dIe notes Rs. 5/- coins

Rs. 50/%. & | 132 T ¥ e |48

Alc  notes Rs. 2/- coins

Rs. 20/- & & |92 T ¥ g | 133

#AlC notes Re. 1/- coins

Rs. 10/- & & |18 T ¥ x| 100

#AlC notes Rs. 0.50

coins




-

127. 39 9% # I AW RN $ETcer & ggel B AR & 50% & ar
3ol HATIRAT & forde 8T foham 7

In the above question, if the amount left over is equal to 50% of the amount
he had before the payment. How much amount he has paid to the staff?

128. us &A% 30 feaAl & 4950 %. aATar . Ife ag 18 1,101 e

3R 300 &7 1Y AT & ar 3T 3G fohdeil gRir ?

A labor earns Rs. 4950/- in 30 days. What will be his earnings if he works
for18 days, 101 days and 300 days?

GENERAL ENGLISH AND GRAMMAR
Essay Writing: (in about a page or 150 words) (dont use your name of
identity)
Diwali

Dasara

Sankranti

Holy - the festival of colours.
Ramzan

Christmas

Friendship

© N>R WD =

Excursions

9. Television

10.Radio

11.Libraries

12.Computers

13.My teacher whom I like

14.My best friend.

15.Poverty in India

16.My child-hood.

17.My school days.

18.If I were the Prime Minister

19.The Book I like the most

20.The Sport I like the most

21.The cinema I like the most.

22.The National Leader I like the most.
23.The political party I like the most.
24 Important tourist places of Andhra Pradesh
25.My hobby.

26.Dowry system

27. Population in India



IL.

28. Indian Railways

29.S.C. Railway and its divisions.

30.Un-employment in India

Letter Writing: in about 100 words (Assume your name as A)

a kL=

o

8.

9

A letter to your friend inviting him to spend Vacation with you

A letter to your friend describing important sight-seeing places in AP

A letter to the Editor about the problems in your locality

A letter to the Municipal Commissioner for regular supply of drinking water

A letter to the Municipal Commissioner describing the conditions of the roads
in your locality.

A letter to a leading company for a job of Junior Assistant.

A letter to a Post Master complaining about the non-receipt of your parcel
from your friend at Bombay.

A
A

10.A

11.A
12.A
13.A
14.A
15.A
16.A
17.A
18.A
19.A

function.

letter
letter

letter

letter
letter
letter
letter
letter
letter
letter
letter
letter

to
to

to

to
to
to
to
to
to
to
to
to

your Officer requesting sanction of leave
your father about the new job you have taken up recently.

your friend in America describing the problems of un-employment

your friend inviting him for your marriage.

your father describing your progress in studies

your brother congratulating him at his success in the examination.
your friend describing the annual day function of your school.
your fiend expressing condolences on the death of his mother.

a Publisher for supply of certain books by VPP.

a Police Inspector about a theft in your house.

the Editor of a News Papers regarding frequent strikes and bandhs.
your friend expressing your inability to attend his marriage

20.A love letter to your girl/boy friend.



A. Write the Feminine gender of the following:

Bachelor, Boy, Brother, Buck, Bull/Ox, Horse, Husband, King, Lord, Man,
Monk, Cock, Dog, Drake, Father, Gander, Gentleman, Nephew, Sir, Son,
Uncle, Author, Host, Lion, Manager, Poet, Duke, Emperor, Prince, Tiger,
Master, He, Hero, Grandfather, Man-servant, Landlord, Salesman, administrator,
washer-man, Milkman, Grandfather, Papa.

B. Give the Plurals of the following:
Son-in-Law, Daughter-in-Law, Mango, Class, Brush, Branch,
Match, Dish, Watch, Buffalo, Potato, Mango, Hero, Dynamo, Solo,
Momento, Stereo, Kilo, Baby, Lady, Story, City, Thief, Wife, Wollf,
Life, Loaf, Half, Leaf, Knife, Calf, Shelf, Chief, Safe, Man, Mouse, Foot,
Tooth, Goose, Ox, Child, Scissors, Spectacles, Cattle, People, Index, Child,
Radius, Memorandum,

C. Identify the Adjectives from the following sentences:

a) Sita is a clever girl

b) There is little time for preparation
C) The boy is lazy

d) She is afraid of the Ghost.

e) Kolkata is a large city.

f) He is an honest man

g) The foolish old crow tried to sing
h) He has little intelligence.

i) You have no sense.

j) We have had enough exercise

K) He did not ear any rice

) There are no pictures in the book

m) I taught you many things
n) Sunday 1is the first day of the week
0) I hate such things

p) He comes here every day
q) He won the second prize.
r He was absent last week
S) My uncle lives in the next house.

D. Fill in the blanks with suitable Adjectives:

a) The prize was won by him

b) This is a very __ matter

C) Suddenly there arose a storm
d) The injured man wants advice

e) India expects man to do his duty



f) Have you any reasons to give

g) There were riots in places
h) I have no cash
1) He was a man of ambition
) The hand has fingers.

E. Give Comparative and Superlative degrees:
Speed, Small, Tall, Bold, Clever, Kind, Young, Great, Fine, White,Brave,
Large, Able, Wise, Happy, Easy, Heavy, Merry, Wealthy, Big, Hot, Thin, Sad,
Fat, Beautiful, Difficult, Good, Bad, Little, Much, Many, Late, Old, Far, poor,
less, sharp, industrious, learned, sweet, strong, good, bad, well, ill, far, in,
near, pretty, rich, light.

F. Fill in the blanks with appropriate words:

a) Prevention is than cure

b) Tendulkar is the batsman in the world
c) The pen is than sword

d) The buildings are found in America

e) The Pacific is than any other Ocean
f) Who is the boy in the Class

g) My Uncle is than my father

h) Ooty is than Chennai

1) Mount Everest is the peak of the Himalayas
1) He is one of the ___ speakers in Telugu

k) China is the populated in the world

) This is the of my two sons

G. Use articles and fill up the blanks:

a) I saw tree in garden.

b) _ tree I saw was Banyan.

C) He is most intelligent boy.

d) Godavari is _ longest river in South India.
e) I want ____ cup of tea.

f) Ramayana was written by Valmiki.

g) Iron is useful metal.

h) Honesty is best policy.

i) Tirupati is one of _____ pilgrim centers of Andhra Pradesh.
j) Indians love music.

K) There is ___ insect in the glass.

) Jack and Jill went up ___ hill.

m) Flowers in ___ garden are beautiful.

n) Gelelio was Italian scientist.

0) __ thief was sent to ____ prison.

p) He aims to become engineer.



q) My brother is teacher.

r Spain is European country.

S) I will come in hour.

t) I never saw such incident.

u) This is ____ exercise to test ______ knowledge in English.
V) I went to hospital to see _____ patient.

W) __ dinner was arranged at ____ Hotel Taj.

X) His vehicle makes ~ loud noise.

y) I saw ___ elephant in 700.

z) Wordsworth wrote poetry on beauty of ___ nature.
aa) What beautiful flower it is!

bb) He is best friend of mine.

CC) ___ Sun rises in East.

dd) You are __ man to do it

ee) This is historic event.

ff) The passengers want ___ help of ___ few volunteers.
gg) He is as stupid as _____ ass.

hh) __ Lotus is beautiful flower.

i) Look at ___ sky, how beautiful ____ stars look!

il She wept like __ child.

kk)  According to Bible, God made __ world in six days.
I1) Ambassador should be __ man of pleasing manners.
mm) Mussolini was Hitler of Italy.

nn) He is ____ native who knows way in the jungle.
00) Sita is purest woman.

pp) Earth is round.

qq) Draw __ map of India.

rr) The doctor restored sight to blind.

ss)  Twelve inches make foot.

tt) Not _ word he said.

uu)  Wisdom is gift of heaven.

vv)  Delhi is capital of India.

ww) Newton was ____ great philosopher.

xX) I met him at church.

yy) A bird in _____ hand is worth two in _____ bush.

zz)  The darkest cloud has __ silver lining.

aaa) Copper is useful metal

bbb) He is not honorable man

ccc) Do you see blue sky



ddd) Varanasi is holy city

eee) Alladin had wonderful lamp

fff) He returned after ___ hour

ggqg) sun shines brightly

hhh) French is easy language

iii) Who is girl sitting there

iii) Which is the longest river in India

kkk) He has come without ____ umbrella

1)) Mumbai is very costly place

mmm)The children found egg in the nest

nnn) I bought Horse = Ox and ____ Buffalo.

H. Fill in the blanks with suitable Relative Pronouns:

1) We always like those boys speak the truth
2) He does his best shall be praised

3) I know you mean

4) She has gone to Chennai is her birth place
5) He gave away he did not need

6) Here is the pen you lost

7) Most people get they deserve

8) He is a man you can trust

9) Where is the book I gave you

10)  Listen to I say

11)  Did you receive the letter I sent yesterday?
12) Do you know _ has happened?

13) Do the same I do

14) God helps those _____ help themselves

15) No man can lose he never had

16) That man __ does not work must starve

17)  He plays the game ____ he likes best

18) I do not believe you say

19) __ you say is not true

20) I gave it to the man I saw there

21) I know you are praising.

22)  You have not brought the book I asked for
23)  Please recite you have learnt

I. Join together the following pairs of sentences:

a) I know a man. The man had been to Iceland.
b) The thief stole the watch. The thief was punished

c) Show the road. The road leads to Delhi

d) I met a boy. He was very kind

e) The man is honest. The man is trusted

f) We met a girl. The girl had lost her way

2) He is a rogue. No one trusts him.



h) I have found the umbrella. I lost it.

1) I saw a girl. She was singing.

) Here is the book. You were asking for the book.
k) This is the building. It was built in a month.

1) I met my Uncle.  He had just arrived.

m) The boy is my cousin. You see him there.
n) The boy tells lies. He deserves to be punished.

0) Here is the book. The book contains pictures.

p) Give me the ruler. The ruler is on the desk.

q) He has a friend. He is a clever artist.

r) The boy was very proud. He had won the first prize.
S) This is the cat. It killed the rat.

. Split each of the following sentences into two:

1) Bring me the book that is on the table.

2) The elephant that was sick died.

3) I have found the book, which I lost.

4) The boy whom you see there made top score in the match.
S) He is a poet whose works are widely known.

6) The task which you have to do is easy.

. Change the voice:

1) The cat killed the mouse

2) The man cut down the tree

3) Columbus discovered America

4) His teacher praised him

5) The police arrested the thief

6) The boy caught the ball

7) My father will write a letter

8) The hunter shot the lion

9) The girl opened the door

10)  Everyone loves him

11)  We expect good news

12)  They sell radios here

13) I have sold my bicycle

14)  We prohibit smoking

15)  Open the door

16) He was praised by his father

17)  The first rail engine was built by George Stephenson
18)  The horse was frightened by the noise

19)  The teacher was pleased with the boyZs work

20) He was taken to the hospital by his friends
21)  The road was lined with people

22)  Shakuntala was written by Kalidas

23)  The building was damaged by fire

24)  Those cars were built by Robots

25)  The child was knocked down by a car



26)
27)
28)
29)
30)
31)
32)
33)
34)
35)
36)
37)
38)
39)
40)
41)
42)
43)
44)
45)
46)
47)
48)
49)
50)
51)
52)
53)

We elected Babu as Captain

I saw him opening the box

We must listen to his words
Without effort nothing can be gained
Do not insult the weak

My watch was lost

The master appointed him monitor
He made his friend do the work
Prem Chand wrote this novel

I bought the baby a doll

I opened the door

They know me

He taught me to read Hindi

We expect good news

I offered him a chair

We must listen to his words

Who taught you Urdu

Somebody has put out the light
The letter was written by the clerk
He was seen by my brother

Honey is made by bees

I was offered a chair

My watch has been stolen

The boy was praised by the teacher
He was chosen leader

The bird was killed by a cruel boy
We shall be blamed by everyone
By whom was this jug broken



L. Fill in the blanks with correct form of verb given in the brackets:

1) The earth -------- round the Sun (move,moves,moved)

2) My friend ------- the Principal yesterday (see,have seen,saw)

3) She ------- worried about something (looks,looking,is looking)

4) He ---——--- asleep while reading (falls,fell,has fallen)

5) He ----- a mill in this town (have,has,is having)

6) I ———--- a strange noise (hear,am hearing,having been hearing)

7) Don't disturb me.I ------- my homework (do,did,am doing)

8) The soup ------- good (taste,tastes,is tasting)

9) He ---------- TV most evenings (watches,is watching,watch)

10)  The baby ------- all morning (cries,has been crying)

11) | him at the zoo (saw,have seen,had seen)

12) She ----------- unconscious since 4€0 clock (is,was,has been)

13)  The sun --------- over the hills (rises,is rise,is rising)

14) When I -———--- my dinner,I went to bed (had,have had,had had)
15)  She jumped off the bus when it -------- (moved,has moved,was moving)

M. Change the verbs into Past Tense in the following:
1. Rama writes to his mother every week

2. She sings sweetly

3. He comes of a good line

4. 1 know him for an American
5. 1 forgot his name

6. He gets along fairly well

7. He throws cold water

8. They all tell the same story



AT ATd GENERAL KNOWLEDGE

gf@ica ae +i qar o Expand the abbreviations:
UEdIvE SBF- Staff Benefit Fund

AT MBF - Mutual Benefit Fund

#G73 CCO - Chief Claims Officer

#1933 CPRO - Chief Public Relations Officer
#1&F CTE - Chief Track Engineer

#dg CBE - Chief Bridge Engineer

#iisiE CPDE - Chief Planning & Development Engineer
g PCE - Principal Chief Engineer

dvadid CMPE - Chief Motive Power Engineer

#WAZ CME - Chief Mechanical Engineer

H??W{?\? CWE - Chief Workshop Engineer

#13edEs CRSE- Chief Rolling Staff Engineer
#1F3 CEE- Chief Electrical Engineer

#Igvas CESE - Chief Electrical Service Engineer
#Igvars CELE - Chief Electrical Loco Engineer
#lowdld CSTE - Chief Signal & Telecommunication Engineer

&g CCE-Chief Communication Engineer

&3 COS- Controller of Stores

eaTa CMM - Chief Materials Manager

#1d3 CPO- Chief Personnel Officer

#1d3 @ CPO/A- Chief Personnel Officer Administration

izt 3ﬂ§3ﬂ'\" CPOIR- Chief Personnel Officer Industrial Relation
#HTHE COM - Chief Operations Manager

#ididtea CPT™M - Chief Passenger Traffic Manager
#vBEeA CFTM - Chief Freight Traffic Manager
FTHFANOFMOW - Central Organization for Modernization of Workshop
#MeA CPM - Chief Projects Manager

#13RE CRB- Chairman Railway Board

HHRTH CRS - Commissioner Railway Safety

FHRTA DRM - Divisional Railway Manager

#lead? CSC - Chief Security Commissioner

didlear ccM - Chief Commercial Manager



#lo#st CMD- Chief Medical Director

HIe3i & CAO/C- Chief Administrative Officer/Construction
US)3RUA ADRM-Additional Divisional Railway Manager

UHU U5 FWH FA&CAO- Financial Advisor and Chief Accounts Officer
TSAIvH AGM - Additional General Manager

#819var EDPM- Electrical Data Processing Manager
THSeegUF3H SWSO- Senior Work Study Officer

8¥le7 IRCON- Indian Railway Construction Organization

&val IRWO- Indian Railway Welfare Organization

¢I3¢H RITES-Rail India Technical & Economic Services
HIHRE RRB - Railway Recruitment Board

HHIET RCT- Railway Claims Tribunal

HIWHNE RRT-Railway Rates Tribunal

HTHITE ICF - Integral Coach Factory

E?FW?W{I\' DLW- Diesel Locomotive Works

H?I’W?W{l\' CLW- Chittaranjan Locomotive Works

HIHITE RCF- Rail Coach Factory

3INseedv% RWF- Rail Wheel Factory

HIHNEH CRS- Carriage Repair Shop

FHEIeFE3T RDSO - Research Design & Standards Organization
gR¥e IRISET- Indian Railway Institute of Signal Engineering &

Telecommunication
Frfigaismsded CGEGIS-  Central Government Employees Group Insurance
Scheme

SSHRNEIHTE ZRTI - Zonal Railway Training Institute

FENT RDC - Railway Degree College

@ STC - Supervisor Training Center

Jiigigtead? APPSC - Andhra Pradesh Public Service Commission

?\??#W UNICEF - United Nations Childrenés Educational Fund
Seeq vT3T WHO - World Health Organization

TAUYl LAP - Leave at Average Pay

TATTUY! LHAP - Leave at Half Average Pay

UT&IT HBA - House Building Advance

HRFCATTOH RELHS - Railway Employees Liberalized Health Scheme



Jﬂ?‘?ﬂ'\’?(’ﬂ' IREM - Indian Railway Establishment Manual
ITEHRHIENTT IRCTC- Indian Railways Catering and Tourism Corporation
HWGIve7Ter RVNL - Rail Vikas Nigam Ltd

?\T’ﬂ?ﬁ‘ UNO - United Nations Organization

HT3TeHT ILO - International Labour Organization

II. R T Y Fill in the Blanks :
1) P/ — faa & &

Lepakshi is in the District of

2) ¥R g sAFRFeHT - 7 g

Bharat Heavy Electricals 1s at

3) AT FTE - I A E

Nagarjuna Dam is in the State of

4 P CFANT Hag HN - & & Tard &

Konark Express run between Mumbai

5)  3HHTT TR - # ey &
Osman Sagar is situated at

6)  FETAH AT - I A E

Kovalam Beach is in _ state
O [/ L4 R — H Ry g
ICF is situated at
I C A /- — H ey &

N/ A - g—— A Py &

O N 25 C o/ [ —— H oy &

11) GRHAAR - # fRua g

12) &Rr e - H uya &

13) e & ITF FREIT - # R &

14) T FhT bt - H fuya &



15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

26)

27)

28)

Rail Coach Factory is at

SRANT ¥ 9T - gt o &

There are Zones in Indian Railways
1 i o A o g— Hser &

There are Divisions on SC Railway
/[ g— #T 391 &

Tar is a product of

JTer g3 & & e - " Ry &

Steel Plant in AP is at

T 3ot & folT 39T T FTTrelr Foted - &

Fuel used for train Engine is or

A I 9T AT BeaT FRGTAT - ov e &

Wagon Workshop is situated at on S.C. Railway.
FAITT ¥ IR Bear AFAT FRGTAT - o [T &
Carriage Repair Shop is situated at on S.C. Railway

ELS stands for

gHITd W fagya w45 v R &
Electric Loco Sheds are set up at on S.C. Railway.
ey e 1 A 7 A— # gfafaa fFar amar &

A brother who is below years of age can be a dependent to
be included in the pass declaration.

............... & @yt & Refior & fav F&T aifdsT qaus st Hper
faar e &

A request to CCM is made for release of berths from



ILGHA & PR Types of Leave:

D

2)

3)

4)

5)

6)

7

8)

TTHAE FHEfaT A FHANT Felsv ¥ H - Rl #r rHleAF

gzt F g &

days of CL are entitled in a calendar year for staff in
administrative office.

E T Y- 1 A f— Ret #r afdafa gzt & o a&dl &

days of Restricted Holidays are entitled in a calendar year
o8 #AgA H Rer ifeer dcer g2t FTAT # STt 8-

days of LAP are credited in half a year

-1 - —— Rer sref sbaer daar gzt gaAm # aredt &

days of LHAP are credited in a year.
K /o p— guf B FATEIRT G2 TP B ST Gl 8.
Extra Ordinary Leave of years can be sanctioned at a
maximum.
gaqld gzt - faat #r &
Maternity Leave is days.

fqea gat - faal #1 &

Paternity leave is _ days.

vF AR 7 3T JfAFaH Had ddd FEY - faer &

Maximum LAP that can be granted at a stretch is days.

IV.3fAA Advances:

1)

2)

3)

4)

5)

qgell IR FFeX HAH 7 &

Scooter Advance is Rs in the first occasion.
ggelt N HIT W HAH ¥ 8

Motor Car Advance is Rs in the first occasion.



Computer advance is Rs

6)  FF fAHfr HAF FeT AT HN ABAE T FT
times the basic pay plus DP

V. #ecd Allowances:

1) i JRﬂF[ ——————————————— DA stands for

2) e 31'3#3: ——————————————— CCA stands for
3) UVIIHRT 31'3#3: ———————————————— HRA stands for
4) g JRﬂF[ ——————————————————— TA stands for

NFIR stands for

THTEHRTE T - -
AIRF stands for

SCRES stands for

VII. {’73‘7’ Ir Ireid ford Say True or False:

1. A%Ia# alaaaAnT 2610-3540 & &
The lowest pay scale is Rs. 2610-3540.

2. graa ddeT T F RAHIRG 01.04.96 & F3rat gl

The V Pay Commission recommendations are made effective from

01.04.96.



10.

11.

12.

13.

14.

FET FifAF FAFR FT & TR ' 9gleitd .

A peon of CPO's Office can be posted to Vijayawada on promotion.

v% g9 3} vaslt FAGR JT & 97 F fav daweT H 39T gl
FT §FaR &

A substitute in Group D is entitled to appear for selection to Gr C
post.

Flave fafde FT dqaATT 4500-7000 & &
The pay scale of Junior Clerk is Rs. 4500-7000.

e FrrT IN-FerF A &

White paper is non-stock item.

e & U aeas AT 9 FREAT Few 7§

Tables and Chairs required for an office are stocked items.

TIae) FHTR RN TS & AT I T o & ghar ¢,

A supervisory official is entitled to draw a brief case for official
purposes.

dofeTATT  3050-4590 H Adwigig #T & 150 T. &.
The rate of increment in scale Rs.3050-4590 is Rs.150/-.

gad Aol arE & AR @ S 9 AT A A O IEAfT §

Employees with II Class pass are allowed in Guard€s Break van.

FCAT AR MY TE A §  J&TH g,

A Station Master is capable to cancel a train.

&Y RETele Yetreh IIArard dar & Tt

Chief Operations Manger belongs to Traffic Service.

AT o HARUT & U HAAIRAT & FHIT gral &l Sira A&
grar AR & FLT §.

Chief Claims officer has to verify the arrear claims of the staff before
disbursement of the payment.

IBHRATH IR Hr H7df Yo HdT SIS garT & ST g,
IRPS officers are recruited by RRB.



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

JATEH FeAA HASRT T i Fm ¢

UPSC recruits Station Managers.

M SoTehl ol el aTel TSI & Al HaAURT &,

Stenographers are personal staff of officers recruited by them.

ST TR d AGFT Yo o7l SIS ganT & el g
A Bungalow Peon is recruited by RRB.

SISl TR 1 3RS # GefAd 3fRART & 3efAleT @ fAafad
fpar 1T &

Bunglow Peons are initially engaged with the approval the officer
concerned.

T Taoll STel TR 120 feaAl i R dar it i «
3EYTT 3TgeT 9T AT &

A substitute bunglow peon attains temporary status after 120 days
service.

FEe TGN Tael sarer TR @S & 9 g

Asst. Officers are entitled to a Substitute Bungalow Peon.

AT TURAT Fl 390 FoFag JATPRT & Gra-ary ey off o
H TUHATRA fhar S1 @ar g,

Bungalow Peons are transferable to any Railway along with the officer
to whom he is attached.

THIR & dcqd 3UPFcdl RS & Fifeh geleatta & fow fanedr
HARY I 3T THIR @R FUiRa & Sl &.

SR stands for Suitability Record because the suitability of an employee
is decided for promotion on perusal of the SR.

AT ST hfaw HiATd AfAS dar & 100% & fgae &7 fo=r

ST B,
100% of CL service counts for pensionery benefits.

Huel dar &1 7Y § MRiEAD TE W A A e,

CL service means service done on Casual Leave.



25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

ol W a9 ay & & 9r fear Jar &

Bonus on Railways is payable twice a year.

FHATRIT T ATGS dcfeT  HG I Tgell dRIE Y &A1 ST .

Monthly wages are paid to the staff on the first day of the month.

{ed WX @Iedigeh 3R &fae dder 3af™ §.

There are weekly and daily wage periods on Railways.

frdr R & A & FAARAT H Ugel TUENT odT I I

AT g
In case of any grievance, staff must approach the local political leader
first.

g Fig FAT e/ fauTs & garT RFRd Har § df 396
faeg 3emafaeh HNars & S Fehdl &.

DAR action can be taken if any staff represent their grievances
through MPs/MLAs.

fAeieeT & SIeT adaT 8T fer rar § Fuife Acea fr 3af™r &
SR FATNT A FRT FJET AT USdT 2.

No wages are paid during suspension since the employee is not
required to work during the suspension period.

fAeasT &1 31 § ufafesd e & ¢ O 39 W FEA 1 g
ST

Suspension means punishing the employee for coming late to the office
daily.

IARIRT & F IFURATT & AU AoiaeT & SRt ey r 3mer
ddel fHerdr §.

Staff get half payment during suspension for unauthorised absence.

aREaRe et A & 3ideta @A & aerg & afagfd & S &

The cost of spectacles is reimbursed under Mutual Benefit Fund.

TEhRT TATT Tt Yo et s Hor & &

The co-operative society lends loans to all Railway employees.



35.

36.

37.

38.

39.

40.

41.

42.

43.

Teh 9§ HAAN 39 W H el AR H 37 & & 20/- @

Hed &1 3UER 61 of Hehell ©.

A Group D employee cannot take gifts worth Rs. 20/- from others on
certain functions in the house.

TREAT & T H d W R 9fd AR gt FF e &7 dataT 7
JTa TR ST TR §.

Wife and husband, if both working as peons can be posted in the same
office.

9 S FAARY T Yoid A Al & T A & FF VI dF Fell dh
et 31gcr 8= arfRe.

A group D employee should have minimum VIII Class qualification for
recruitment on Railways.

5 @y &I 37geh AdT A QAlleIged &l dTel o7 Tdeh 1 U ¢
g

Pension is payable to a Railway servant who retires from service with
5 years qualifying service.

e IS 9 S HAURT 2 g8t Jar q T AT & dl 38 9ot
fear ST gt .

If a Group D employees dies after putting in 2 years service can be
paid pension.

AarfAgfcd & TAT & TET - ARGPOT ST g,

Leave encashment is payable at the time of retirement only.

STAT FE ST FloTell HAURT & HiasT AR S @ a7 &

Deposit Linked insurance scheme is linked to the PF balances of an
employee.

ST & NI UReT glel TR Yol AN T HF ool fear e
g

Railway employees are given free food during IOD.

HIFIR & & & SNIH/AT 8ol gl W 38 gifaqfcd & sl &

Workmen get compensation if one is injured while on duty and in the
course of one's duty.



44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

i 1S WA 3TE & R Sy & AW A A ST B, dr 9%
3R & FEANR &Ifdqfc R & HfaRed qagqas I &
$ITcAeT T 871 gheR ¢

If a Gangman is run over and killed while on duty, he is entitled for

ex-gratia payment in addition to the workmen compensation payable to
him.

THE "U" & HHAGNT Yo0d 3T # 3Hader Aol & &7 7 39aR
A AT JFA BRI & §heR .

Group D employees are entitled to free diet while taking treatment as
in-patient in a Railway hospital.

R AT FAR T of B e A8

Un-married female employees are not entitled to Maternity Leave.

Wa sdl &8 garr fea fea w@em & sufya @e *fow

3TSI/31ST.ST 3FleaR &l Jod 91d fear ST &,

SC/ST candidates are given a free pass to enable them to attend the
written examination conducted by RRB.

Yord HAGNT &l 3 °el & fav 8 fhaAld 3mr & gt W 538 W

Y W giafesT 70% ITET Hedl & 8Iam.

70% of daily TA is payable to a Railway employee on line beyond 8
Kms for 3 hours.

T ace fafde el IuE o Jar & geT FohdT &

A Senior Clerk can remove a peon from service.

3T Y& UFHUE fehexiare 3N Hag & & Terdl

AP Express runs between Secunderabad and Mumbai.

T TSTurel TrEYE ST fEeell d& 3R ool & Teld §.
All Rajadhani Expresses are to and fro Delhi.

Fafat o off fsat & aIT-of ST ST o T g,

Cattle can also be transported by Trains.

A & YO isal O darar-of ST AT ST GehdT g,

Fish cannot be carried by passenger trains.



54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Yod HAT-ARON & H{ed 125 %. &
The rate of Railway Time Table is Rs.125/-.

Yord HAY AROM 7 AT A Heath gEer & a3 g

The Railway Time Table gives the information about break journey.

HIS arg ary 500 R By gl v AT QU HE A gger U I
A pass holder cannot break his journey before completion of 500 kms.

dlehel ¢ &l TEehe 8 Hel & TolU IY BT &.

A local train ticket is valid for 8 hours.

T S & G & 2 f&edl & og TAF ARSI SarT  UAdTaal
ar ST &

Refund is granted by Station Master after two days of departure of the
concerned train.

foetr gséiep feshe oY Tt & g erevaraely &1 ST Fevell .

Full refund of fare is entitled on an unconfirmed ticket .

3ETUT YHR T YTaTIdr JgT bl ST Tehal.

The reservation charges are non-refundable.

gfawr arg 4 7 & fav 3y § o e ara arly foeeelr o

IR ITET X Fhl &.

A privilege pass is valid for 4 months during which the holder can
travel any number of times.

fesre et faaT feepe ardlt S Y& waA=l 7167 @1, ¥ & Uiy age

Y HhdT §.

A TC should collect amount from ticket-less traveler if he is not a
staff only.

Ticket checking staff are running staff who are entitled for running
allowance.



64.

65.

66.

Drivers are non-running staff.

HHUNT I & aNT QATelleT Tg.
Staff should be sober while on duty.

SUSoR GUET SBADT TE ST el o [olT I Sl & [ 3ThT
e fohar Sieh-alh g,

Breathalyser test is to test the driver whether he is breathing is
properly.



67. 3YLT RS gled & 10 Tl & Ygol aAMel UF AT HeIMHA T 31
faaAt & 3idela ds-y &
Taking intoxicated drinks before 10 hours of commencement of the
duty is punishable under DAR.

68. TR YIS cd & §heR ¢.

Peons are entitled to washing allowance.

69. YIS el HHAG "H" & IoT hAUMRIAT &I T el §, S Tole, HY
3R | 31ME & 9T &1 T A B

Washing allowance is an allowance payable to Group D staff who
accept the work of washing plates, cups and saucers etc.

70. YT HHAN held & Coifeed fahd I AT Yof Tored H STAT dr
Sl § 3R @y @t & @l & v HEds iy Jed @
IERT Fr AT &,

The daily sale proceeds of the Railway staff canteen are credited to
Railway revenues and draw the necessary expenditure from Railway
towards purchase of provisions.

71. @ﬁﬁﬁm@@gﬂﬁ@ﬁﬂ%ﬁ%wﬁﬁmma*
g &

Some trains are called freight trains because of their frightening speed.

72. HEY AT AR Joeh Aol ST & Heolel F T .
CFTM looks after movement of Freight Trains.

73. e FUARAT Heal s f9ehr T &,

Container Corporation sells containers.

74,  3TESIRAEET &7 7T § ARCT Yo WA 3R IRaga @9,

IRCTC stands for Indian Railway Catering and Transport Corporation.

75. YoIco Yat &1 ag fasmer & S Iy & W@ & 9 & 9darar g,

RailTel is a department of Railways who tells about Railways to the
passengers.

VII. 9HMHATT 9%d General Questions:

1. g#ITT & FAgraaers e &
Who is the General Manager of S.C. Railway?



. AT F I HETIGEUF FhoT &
Who is the Additional General Manager of S.C. Railway?

. FAITT F GG FET FAMAIT Pt &
Who is the Pricipal Chief Engineer of S.C. Railway?

. aﬁm%gwwnwﬁarmmfarmi

Who is Chief Administrative Officer/Construction of S.C. Railway?

. gAY ¥ FET FAF HAFRT BT &
Who is the Chief Personnel Officer of S.C. Railway?

Who is the Financial Advisor & Chief Accounts Officer?

. 8GVIEIE AT FT AT FET 8.
Where is the Headquarters of Hyderabad Division?

. RFawEE A5d FT FEITT F6T 8.

Where is the Headquarters of Secunderabad Division?

. RaSrarsT #T GERT AT FAT 8

What is the other name of Vijayawada?

10.99F "o 3 @7F " FHAN fraa gider am@t ¥ gwan &

How many privilege passes are eligible to Group D and Group C employees?

N. &7 T N G7F "1 FHGR), [k 25 T # A1 [ I & fFaa
AarfAgtce 3wIa qrat &

How Many Post Retirement passes are eligible for Group C and D
employees, who have put in 25 years service?

12. 12 & FHTRT 3 erar amared gy & fov RFey Rar g ar ag 6 dc

& glaer e et #1 g#ar &2
If any employee has given option for widow complementary pass then his
elgibale for six sets of PTOs?



13. BFAfaf@a o B Asa # fRya &

In which Division the following stations are situated?
Nanded, Tirupati, Raichur, Nandiyal, Parli

14. R & FemT A FleT &

Who is the Prime Minister of India?

15. 37 9fear HRGEET FgT P &
Where Rail Wheel Factory situated?

16.375¢ I17eT fwa forar &

Who wrote Natioanl Anthem

17. 9RANT fFde F AT FdlT T &

Who is the Present Captain of Indian Cricket?

18. 2efifaster T JTfassR fFaa f&ar

Who Invented television?

19. 3ceTaeT ) TaTenaT Far &

Which is the capital of Uttaranchal?

20. #fav5 fafdw & aiss fAfaw & &7 & ggieifa & fav ~gaas JofEa
dar Far 87

What is the minimum service required for promotion of junior clerk to senior
clerk?

21. 9737 S 3% sied #) qrAaT ¥ fav FHAN F ~gATH FaAr g #
I7AT FWA TR,

What is the minimum distance an employee to travel to become eligible for
TA/DA?

22. FR@1 # FERT frer ¥ F e Rel #r Jrwfeas gt #1 917 &

How many days casual leave a fitter in workshop is eligible in a year?

23. 3R el ov faat AT & &

How many Zones are there in Indian Railways?



24. HRAT ¥t o fFaa srar §

How many Workshops are there in Indian Railways?

25.37 A FT &

Who is the Minister for Railways?

26. %73 i Far T &

Where is the Railway Board situated?

27. w7 ot #r Fgres F4r &

What is the currency of the following countries?
USA ,Dubai, Singapore, Australia, Bangladesh, Russia, China , Sri Lanka,
Pakistan

28.%%%3@73?#33?

Who is Election Commissioner of India?

29.9RT H fFaa usT &

How Many states are there in India?

30.9RT # fFad g T &7 &2

How many Union Territories are there in India?

31.9ReT & F&T ~Irareier F7 & .
Who is the Chief Justice of India?

32. goTq FENT e FaT FIEaT U1

Who was called as Punjab Kesari?

33.3T FAFIIT FaT Rya &

Where is the Railway Museum located?

34. 4007 Yet FT 9HE FhT 87
Who is the Head of the Indian Railways?

35. FHTGING' 3 TR F) 3@Ter Florar % FNar &2

Which Department handles health care of the employees?



36. 47 et FT 9HG FhT 8
Who is the Head of the Zonal Railway?

37.gffor e ded oY frdad 9HE FREn 8

How many major workshops are on SC Railway?

38. ArRAATE F FEIHA FhT 8.
Who is the Chief Minister of Tamil Nadu?

39. 3Ter gaer & UsI9rer FleT &
Who is the Governor of AP?

40. 3% HFAT fwl gl sl FT IoeE .

Write any two allowances admissible to you?

41.3e daw F FFAT FedT gt sieal #T Feea FW.

Write any two allowances admissible to Railway servant?

42 . JppemaeT & Jdler fAget FT areed #ar &
What is meant by D & A Rules?

43.57F & " FT FHAR, fFFF 4 F9F # a1 [ F g aa de a7 i
A& 3. FT g 87

How many sets of passes and PTOs are entitled to a Group D employee who
has put in 4 years of service?

44.g 7o v T #gcaqul gdeT v FhTd 8

What are important Tourist places on S.C. Railway?

45.g#@ed & faw sl vaiat Frat &

What is the recruitment agency for S.C. Railway?

46. IRAT ot ov Pua veaTs At Frelar Far &9

Where is the only Degree College on Indian Railways?

A7 . FHTRY amr [Afer Far §
What is SBF?



A8. FHTGRT amer Ay GAfT ¥ rezer 3 gevT FhT &

Who are the Chairman and members of SBF Committee?

49.g 7S ¢ FHART amr [ AR GaRT IR F TF FhorAre FhT-Et &

What are the schemes introduced by SBF Committee on S.C. Railway?

50. 38T e ¥o7d FHAN FT ¥ HgT HAT FheT &
Who is the General Secretary of SCRE Sangh?

51.3180r 7T I0d HoIGY JhAda ¥ AgHfAT FhT &
Who is the General Secretary of SCRM Union?

52. 4R el G AT HIeT 23 FlAgT R &) @ sl d 80

How many Trade unions are recognized on Indian Railways? What are they?

53.3d3 {‘?\WW 3 fAv ggdddar 7 8 Who is the Correspondent for the
Railway Schools/Colleges?

Ak



HHE & & FHE T (FlA5 fafdF A a7 & fav geq §F
(16 2/3% HfeFererd Fler )

Question Bank for selection from Group D to Group C(Jr.Clerk)

(16 */5 % Matriculates Quota )

T Ifuld A. MATHS:

I. 9IEdTae d«/Real Numbers:

1.

TIBN FT 8TPT 4 FFCIV & FHDI UF YT P FAa13 T AT FAT.

The area of a square is 4 hectares. Find the length of its side.

F5 TF FT PN FFR A & FaFT ABe 1225 Fof HAew 8, al saHr
TRATT =T gl

A house site is in the shape of a square. Its area is 1225 sq. metres.
What is its perimeter?

Bt giei @a F1 &% 7396 T Hlew & 3HFHT TRATT fFa=T gl

The area of a square field is 7396 sq. metres. Find its perimeter?

et IaPR @ # darg AN G FT AT 43 & @ FT
&IPer | gFIV 2288 Faf Hew & BT #Fr aarg v alstE 1 gar
T

The length and breadth of a rectangular field are in the ratio 4:3. The

area of the field is 1 hectare 2288 sq. mts. Find the length and breadth
of the field.

vF @F HEAER § N FEFr a5, v alsiE w7 s 53 8
BT FT &7%er | §FIV 3500 Ff Hew & ar saHT TRATTT fFaar gl

The length and breadth of a rectangular field are in the ratio 5:3. The
area of the field is 1 hectare 3500 sq. mts. Find its perimeter.



10.

11.

12.

13.

14.

15.

16.

17.

vF Bd HITPR & AN FHF dAq13, FHF qsrs FT 'Ly Taw #
i sHT HTEA 24576 gFeAv & al 3@HT GRATT fFaar ghr

A field is rectangular in shape and its length is 1'/, times its breadth. If
its area is 2.4576 hectares, what is its perimeter?

FO AFAAN H 1,738/-%. H TR AR a1 315 3R I3 AT
Sl giFadl @I 1-1/3 AT AR A s Fadl v FEam HI g1 FIMmTes,
A sum of Rs. 1728 is distributed equally among some persons and each

got 1'/5 times as many rupees as there are persons. Find the number of
persons?

& Y Simplify: 2/3 + 4/9 x 7+ 99"/, x 245.
gel &Y Simplify: >'/»5 divided by 4o x /1, divided by '/

gol ®Y{  Simplify: 5 x 5 minus 5
5 divided by /s

gof &Y Simplify: 10 - [41 28 + (12 - 3 -1 )]

gl Y Simplify: 3.732 x 3.732 minus 1.732 x 1.732
3.732 plus 1.732
gol &Y Simplify: 1.5 + 04 (2 - 0.5) + 0.1 + 0.4

gol &Y Simplify: /s of % + lg divided by %56
Ife If 1/3.718 = 0.2689, @ then 1/0.0003718 = ?

fordT cafdd & 39l Fufed & & 1/3 BEaT A9 gl & gar A9 TRy
I 3/5 YT ST Y feam AW IR 3gial 39a 9 & feam 5 d 6400 .
. o A wafed Reaet 41 g

A man left 1/3 rd of his property to his wife and 3/5 th of the remainder

to his daughter. He gave the rest to his son who received Rs. 6400/-.
How much was his original property worth?

forel Tmar 7 4/9 o5% § 3R 125 wsfrar € o ase & G fhder
8-

In a school 4/9 of the pupils are boys. There are 125 girls. How many
boys are there?




IL.

18.

19.

20.

21.

22.

23.

24.

25.

eqard kliry HHAEIITT Ratio & Proportion:

gfg Tl If AB = 3:4 3R & ;A and B:C = 56,0 fohaar & find
A:C T T olRTRI?

Ife TFaas If xiy = 3:4 3R 895 and yiz = 4:5, A AT T
g find Xy:z I Il Tem?

gfg ©a If AB
find A:B:C?

2:3 3R & A and B:C = 9:5 THA T gdT 9T

gig T If AB =35 : %3 & and B:C = ; ¥ TAA &7 gar
oldMMT Find A:B:C?

gfg 3T If R:S = 0.01:0.11 3R @ and S:T = 2.2:1, 3IR:THE
Find R:S:T?

forell Tt & FURST Aot & el J@r g gary &I a1 Fud # 1-
172 AT Fad ST §, WAl W@ GaRT d A FHA H 4 IAT TEd
I §. ogadH qg H Tl et dr T & e H T o9,

In a school, Under Sanchayika Scheme, Rekha saves 11/2 times the savings
of Bindu, Geeta saves 4 times the savings of Rekha. Find the ratio of the
savings of all the three in least terms?

T IR & & AT o AR 1174 :1-2/3 F AT A G TS IR T R
360/- ¥V fAer . FoT R IR o & /Eq &1 gar 9.

A certain sum of money is divided between A and B in the ratio of 1'/
: 173 and A got Rs. 360/-. Find the total sum of money and B's share?

forell ey & v AfUSRT 3R Tk TS & AdeT & 3Heurd 15:78.
gie e &1 ada 3R & ddd & 720/- ¥9T &H g, dl IA$ &
ddel T IdT o9,

In an office, the ratio of the salaries of an officer and a clerk is 15:7. If

the salary of a clerk is Rs. 720/- less than the salary of the officer, find
the salary of each?



26.

27.

28.

29.

30.

31.

32.

IR URWE & AT H, & IFACIRT  EaRT IIod AT T Igard 13:19
g. did 3eficar a1 g@k 3FAlGaR & 312 &d 3 el . g
3FAIGAR & fehcel AT A

In an election to a municipal council, the votes secured by two candidates

are in the ratio 13:19. The elected candidates gets 312 votes more than

the second candidate. How many votes are secured by the second
candidate?

i R gaE & d Fo AR 35 0 2% & I A SE S I
Al @ vEE @ 120/- T WS A § O TS & BEY @ qar
T2

A certain sum of money is divided between Murthy and Prasad in the

ratio 31/7 : 22/3, I Murthy gets Rs. 120/- more than Prasad, find the share
of each?

forell ohche ¢ H@em & U 3N dgell CaRT S I A &l
3T 5:9 & R dgee] 3R 3TTEX I AT 617 B AT STEN IS

d 187 oA AF FAT §, dl 3e7oh GaRT FATC IV A fhcdat B
In a cricket test series, the runs made by Raju and Tendulkar are in the

ratio 5:9 and Tendulkar and Azar are in the ratio 6:7. What are the runs
made by them if Azar makes 187 runs more than Raju?

e AR & & IRaR $r arf¥er 3= &1 3T 4:3 & 3R 37 aifden
AT HT IAUTT 32 Ul g I A a¥ F 3000 T TS WA g ar
3AHT aTiF 3T Forchstr ¢

Annual incomes of the families of Sita and Latha are in the ratio 4:3 and

their annual expenditure are in the ratio 3:2. What is their annual income
if they save Rs. 3000/- in a year?

10 GETHT &I Hed 80/- T. §.15 TEhN & Hed Bl Tl I,
The cost of 10 books is Rs. 80/-. Find the value of 15 books?

48 ST °1eT T Hed 16,800/~ T. 8. 36 SRT el I Hed fohclall g,

The cost of 48 bags of paddy is Rs. 16,800/-. What is the cost of 36
bags of paddy?

4 FEEAT & Teh UREAR &l AQS eIT 2,800/- &. §. IRAR H 3 &I
gl T =AY fohctelr gram.



33.

34.

35.

36.

37.

38.

39.

Monthly expenditure of a family of 4 members is Rs. 2,800/-. What is
the expenditure if there are 3 members in the family?

gfE 12 AT & AT 18 e gr@ H 3HE—Hhar § ar 30 AR &
o fohdel & g1@ $r 3TaThar gt

If 18 tones of grass is needed for 12 cattle. How many tones of grass is
required for 30 cattle?

gfe 80 e Rl A # 10 feafl & @ AT Fohd g, o 38 FA
H 40 e fohdet et # qu S

If 80 men can do a piece of work in 10 days, in how many days can 40
men do the same piece of work?

Ifg 80 AT fRE 1 & 10 &l A qU aX §hd §, o 34T &A H
20 3T fohdar feat 7 Q@ .

If 80 men can do a piece of work in 10 days, in how many days can 20
men do the same piece of work?

Ife 80 MmeAT fhell 1 @l 10 feadl & & Fohd &, dr 38 &A HT 4
et & @ e & fov fhdsr 3nefAal & smaegerar gt

If 80 men can do a piece of work in 10 days, how many men are
required to do the same work in 4 days?

Ifg 80 3MeHr forel @A & 10 Gl A G T Wbt 8, @ SE HIH HI
2 feell & qU X & AT fohdal 3efATT & 3mavashdr g,

If 80 men can do a piece of work in 10 days, how many men are
required to do the same work in 2 days?

36 JmeAT Rl # A 12 el F G A Fehd g, dr SET A H 9
e fohaal feadt & Q@ SN

36 men can do a piece of work in 12 days, in how many days 9 men
can do it?

18 3Mear 10 feaAt & U $3M Wi Tehd §. 3o 4 el T *F A
& dIG, 39 &H B N 4 A # @@ = F v fovaa snefaat &

CENGIRCEEIR

18 men can dig a well in 10 days. After they have worked for 4 days,
how many more men shall be employed to complete the work in 4 days
from then?



40.

41.

42.

43.

44,

I11.

44.

45.

46.

35 ©Er & [T 24 AT &1 A9 THR 6300/~ &. §. 25 BHE & foT fhder

fealt # A9 9HR 3375/- T gl
The mess charge for 35 students for 24 days is Rs. 6300/-. In how many
days will the mess charges be Rs. 3375/- for 25 students?

8§ el & 20 feat & AT 480/- T & TS & ETHhdT g. 12

FeEdr &1 15 feal & v 3feld ardael &1 Hod fhdsr glem.

Rice costing Rs. 480/- is needed for 8 members for 20 days. What is the
cost of rice required for 12 members for 15 days?

10 AT 5 f&adt A 75 fhaAY. o ¥ 90T Gha g 15 GHAT 45
for.alT. e Tss fohdel ool & fooT Hehal

10 men can lay a road of 75 Km long in 5 days. In how many days
can 15 men lay a road of 45 Km long?

24 3EHAY &t H 8 € A ¥ 15 AT & ol 1A & qU &
g. 20 3T, G & 9 € FH Hd T H & fhde &t A qu
.

24 men working at 8 hours a day can do a piece of work in 15 days. In
how many days can 20 men working at 9 hours a day do the same work?

175 3EHT 3150 #HeX el AT 36 Al # Wig Thd g, 24 fear &
3900 HIeX o6l AgX WigsA o U fohdel GAAT ST TaThdr g,

175 men can dig a canal of 3150 metre long in 36 days. How many men
are required to dig a canal of 3900 metre long in 24 days?

19 31T A Profit and Loss:

g % Aed 10/- Tav § AR wa. Jqeg 12/- v § ar aner an gfa
fhael &

If the Cost Price is Rs. 10/- and the Selling Price is Rs. 12, What is the
Profit or Loss?

Iie Teh YEch HT HT Hed 10/- ¥UC § 3R 9T Fed 12/- U0 &, dr

100 JERT G 1T AT gfel fercTalr g1,
If the Cost Price of one book is Rs. 10/- and the Selling Price is Rs. 12/-
, what 1s the Profit or Loss on 100 books?

I T Hed 500/~ TIC § 3R oMeT 50/- ¥AC § o Tashd Heg fohcan
g1,



47.

48.

49.

50.

51.

52.

53.

54.

If the Cost Price is Rs. 500/- and Profit is Rs. 50/-, what is the Selling
Price?

g 10 S oo FT HT Hed 5000/~ TAC § IR AT 500/- ¥AC g, A

Teh §RT 7ol o fashd Hod fohclal .

If the Cost Price of 10 bags of Paddy is Rs. 5000/- and the Profit is Rs.
500/- what is the Selling Price of each bag of Paddy?

Ife fasra Aea 6% § 3 g1 0.50 8 &, Y T Hed T ghem.

If the Selling Price is Rs. 6/- and loss is Rs. 0.50 ps, what is the Cost
Price?

e T Hed 640/- T 3R fAHT HeT 680/- TUT § . M &l Fiaerd

IERGINCIN
If the Cost Price is Rs. 640/- and Selling Price is Rs. 680/- What is the
Profit percentage?

I T Hed 528/- TUV § AR 18T 44 T 8, A fasha Heg 3R ot

EIGHGRELGINCI

If the Cost Price is RS. 528/- and Profit is Rs. 44/- What is the Selling
Price and what is the profit percentage?

Teh & fashel & 144/- T # Ush JH @AST AR ol Pead A 9fd
9f8er 2/-%. # ST g, o AT gl a1 gfaerd foeder gem.

A book seller brought a gross of pencils at Rs. 144/- and sells the same
in retail at Rs.2/- per pencil. What is the Profit or Loss percentage?

U qEash fashdl & 100/-% H FheG IR & Th {7 Tler 3R 24 <fe

€.6.50 4. # d°AT §. o AT il FaATus,
A bookseller brought a ream of white paper for Rs. 100/- and sells at 24
sheets for Rs. 6.50 ps. Is there any profit or loss?

TS G SN A 800/~ & H Uk 63T Wledm ¢ 3 8 10% i W
ST . 993 1 A Hqed fhae g,

An animal trader buys a calf for Rs. 800/- and sells at a profit of
10%what is the selling price of the calf?

T G SAMRT & 1200~ & F 7T @IS & 3R 58 8-1/3% & gl
W S°AT §. T T [&AhT Ao Fohcer g

An animal trader burs a cow for Rs. 1200/- and sells at a loss of 81/3 %
What is the Selling Price of the cow?



55. Tk Uy AN §O8T AR AT H HAA: 800/-F. AT 1200~ T A
Tlear § 3R sadr FAA:10% o 3R 8-1/3% gf R daar &, ar

HI 18T AT @iy &1 faerd foraar grem.

An animal trader buys a calf and a cow at Rs. 800/- and Rs. 1200/-
respectively and sells them at 10% profit and 8'/3 % loss respectively, what
shall be profit or loss percentage on the whole?



56.

57.

58.

59.

60.

61.

T 96/-%. H et @WleaT 8'45% T & 38 &ff & S=ar & Ife &ff 39 5%
&1 gifel I T g, a o & asa 7o e g

A purchased an article for Rs.96/- and sold it at a profit of Rs.8'/3 % to
B. If B sells it at a loss of 5% what shall be the Selling Price of B?

PSS SAURT 6/- T. T G W ATRIST dART  20% AT UIed Tl g, ar
100 SR T Hed Thctlr gram.

100 By selling coconuts at the rate of Rs. 6/- each, a trader gained 20%.
Find the cost of 100 coconuts?

adr 70,500/~ . #H B WIEAT ¢ 3R & SO 12% o 9Icd T .
SHH oTH AT gfed Tohdair graf.

Gopi bought a house for Rs. 70,500/- and sold it at a gain of 12%.
What is the profit or loss?

M 16,500/- & H Tk Tale WAEAT & 3R 20% gfd W I a1 &.
T gl forcetr gl

Gopi bought a house site for Rs. 16,500/- and sells it at a loss of 20%
what shall be the loss.

mdy 70,500/- . H T 3T 16,500 & F S Wiedr & W & A
H12% o §. 3R ©oe 20% gfa 9 S9ar g, o HT oy a7 gl

ferctell g
Gopi bought a house for Rs. 70,500/- and a site for Rs. 16,500/-. He

sells the house at a gain of 12% and the house site at a loss of 20%,
what shall be the gain or loss on the whole?

PIS SAIRT 1188 T. Ucdeh I &I X al Arsfohel oIdT §. T H H 39
10% T8 3R q@X # 10% &l § . o SHHT THI T AT glid
gfdRrd fehaetr gremi

A trader sells two cycles at Rs. 1188/- each gains 10% on the first and
loses 10% on the second. Find his profit or loss percentage on the
whole?



62.

63.

64.

65.

66.

67.

HIg AhlAHh 10976/ T Fedsh H X W Thed Ul §, Th H 12%
A BT § 3N g # 2% g g § . Y SHHT HAT o AT g
ol gfcrRre feheer gram.

A mechanic sells two scooters each at Rs. 10,976/- gaining 12% on the
first and losing 2% on the second. Find his gain or loss percent on the
whole?

Teh SORY 1200 & FF X W 25 ABfohel ST g TG FUar T

arsfhe & & H 50 N FF AT & df 38 Tohder 9faerd @msT gIam.

A trader gains 20% by selling 25 cycles at a rate of rs. 1200/- each. If
the company reduces the price of cycle by Rs. 50/-, what shall be his gain
percentage?

HIS Bel AR FT Bl GledT & AR Sd q 3T ®el 60% & oA
W 3R AV Bl & F 3T Bl F 20% F W §IAT £.9Y¥ T &

AT, 3Hk AT T AT gl & IdT oTamue,

A fruit merchant purchased some fruits and sold half of them at a gain of
60% and half of the balance at a gain of 20%. The rest are spoiled.
Find his gain or loss on the whole?

el a&q &1 Fed uld a¥ 3% Uod HoF ¥ 20% "ear g & a¥
"edl STl §. TG 38R Held il sl & &6 19,200/~ &. g, al g8

A AeT fohder 2.
o o

The cost of an article decreases every year by 20% to its previous value.
If its value is Rs. 19,200/- after three years, what was its original cost?

T 5% &7 offY W His AT o FF S9ar § 3R &f 387 10% o w a@r
& ST §. afe amer gfaerd & gearafdd fear sirar § 3 afg v e
10% o 9T & Hl Sadr § 3R & 39 5% W A & 9°ar g, ar dr &
T Ao fohear gia.

A sold an article to B at a profit of 5% and B sold it to C at a profit of
10%. 1f the profit percentages are reversed i.e. if A sold it to B at a
profit of 10% and B sold it to C at 5% what is the Cost Price of C?

tfaer 400/~ & IBAT @lEar § 3R 3/ 450/ H dIAT § . SHPT o

gfaera fohder gram.

Anil purchased a radio for Rs. 400/- and sold it for Rs. 450/-. What is
his profit percentage?



68.

69.

70.

71.

72.

73.

74.

TR 250/-F H A5 asforel @lear g 3R 300/-%. F 39 s9ar g,

3T oIt gfaera fhder grem.

Rakesh purchased a bicycle for Rs. 250/- and sold it for Rs. 300/-. What
is his gain percentage?

gAlE 12 e AR ao 180~ & & wlear § 3R 39 18/% ufa

e T T W SIar § . df 3T o Ifaerd fhdar grem.

Pramod bought 12 litres of Kerosene Oil for Rs. 180/- and sold it at the
rate of Rs. 18/- per litre. What is his profit percentage?

aMfde 15 fham &€ 3,000~ & & TleAT & AR 3H el H 220/

gfad F.IT&Hr g7 W d9Iar g ar o gfaera 4 §.

Govind purchased 15 Kg of Ghee for Rs. 3000/- and sold the ghee in
retail at the rate of Rs. 220/- a Kg. What is the profit percentage?

3AY 2,500/-F H Hl @l § IR 3@ 1600/- & H  &°ar . o gy

FT gfaerd 31 §.

Umesh purchased a chair for Rs. 2500/- and sold it for Rs. 1600/-. What
is his loss percentage?

AT 15,000 5. H 3T TASAT § 3N $& HROT F & 12,000~ & H
ST &, dr 3eTehr gifey & wfaera am g

Mathura purchased a cow for RS. 15000/- and due to certain reasons sold
it at Rs. 12000/- What is her loss and what Percentage?

ETAH 12,000~ & H M TEdT § 3R 39 W dRaga & fow 500/~ %.
TT AT g, dl 10% o et & foIv 39 fohder & 9T 819,

Hareram purchased a cow at Rs. 12000/- and incurred an expenditure of
Rs. 500/- for its transportation. At what price should he sell to make a
profit of 10%?

s A Ao’ T ISA 38750 T F Wlear & I8 s/ 49220 ¥ H
SIAT §, 3% 3T @I 1250 T. §, dl 3IRT oH AT g T gfaerd

fhdaT g,

A radio dealer paid Rs. 387.50 ps for a radio. He sold it at Rs. 492.20.
If his other expenses are Rs. 12.50 ps. whether he gained or lost what
percentage?




75.

76.

77.

78.

79.

IV.

80.

81.

82.

TS 3,500/~ %, H SrS@sienel @ledr § 3N 5@ 20%H gifer & S=ar g,
dr Arsfeher & fashd Hed T T of@mus,

Raju purchased a bicycle for Rs. 3500/- and sold it at a loss of 20%.
Find the price at which he sold the bicycle?

g 4,800/- H TURFST @Gdr g 3R 38 20% o Uil & fov 3o¢

30 g Hed WX ST @M. Harish purchased a tape recorder for Rs.
4800/-. At what price should he sell it to gain 20% profit?

TS Ui galed 12/- T H 5 Eoled AP TWledr & 3R 38 98+ 1.50/-
T, T X W ST g, df ST ey A7 g 1 gfaerd fha=m g

Rajesh purchased 5 dozens of oranges for Rs. 12/- a dozen and sold them
at the rate of Re.1.50 ps. each. What is the gain or loss percentage?

forely ot &1 fasha FeT 540/-% 8, AR 38 fashdr & 10% Fr g1 g,
o sger @lie Hed fardar gram.

If the Selling Price of an article is RS. 540/- and the seller incurred a loss
of 10%. What is its Cost Price?

HIS Hel AR 20/-F Golel hel TUGAT ¢ IR SIH & 50 Bl &I &r
g g 3fg ag gR@ed & 5/-F @I aar g, ar 39 ufa Fer rda
Hed I ST Bam, TIHA 38! o orsT AT Bliad &l

A fruit seller purchased 25 dozens of bananas at Rs. 20/- and out of them
50 were rotten. If he incurred Rs. 5/- towards transportation, at what
price should he sell each banana so that he neither gains nor loses?

SqUR QT Trade Discount:

gie TRl a&q & 3ifehdd Hed 54/- TUV § 3R BT 6/- TUV §, @ AT
fasg #oa 1 ©.

If the Marked Price of an article is Rs. 54/- and discount is Rs. 6/- what
is the Selling Price?

gie Tl a&g &1 fashd Hed 42/- TUC § 3R §e 3/- T §, ar 3§
Hiehd Hod TohceTl &.
If the Selling Price of an article is Rs. 42/- and discount is Rs. 3/- what
is the Marked Price?

gfe 3ifhd HeT 20/- ¥UC § AR Qe 2/- FAC B, @ g F gfderd
forceTr .



V.

83.

84.

85.

86.

87.

88.

89.

If the Marked Price is Rs. 20/- and the discount is Rs. 2/- what is the
discount percentage?

gfe fordl o€ & fashT Hed 35- FAC ¢ IR Qe 5- U g, Al [e

FT gfaerd hder §. )

If the Selling Price is Rs. 35/- and the discount is Rs. 5/- what is the
discount percentage?

e B 20% § 3R 3ifehd HeT 250/~ &. 8, A [aha AT fohdeT &

If the discount is 20% and the Marked Price is RS. 250/- what shall be
the Selling Price?

gie 3ifehd Hed 1280/- FUT g AR BE 3-1/8 % o Tasha Heg Fohcan
el

If the Marked Price is Rs. 1280/- and the discount is 31/3 % what shall be
the Selling Price?

g wrsfhe & 3ifhd Hed 1280/- FUT § SHA 10% BT &l W 72/

TUT &1 ST BT §. SHAT T Hod Tehclsll &.

The marked price of a cycle is Rs. 1280/-. By allowing a discount of
10%, it gives a profit of Rs. 72/-. Find its Cost Price?

forer AT &1 3ifhd Hed 18,000/ &, & TH 20% & B W d°a &

4% gifer &, ar . #AAT 1 wlg HeF fhdar grem.

The Marked Price of a machine is Rs. 18,000/-. By selling it at a
discount of 20%, the loss is 4%. What is the Cost Price of the machine?

forelt caersy &1 AT dqea 1150/ v & swar sifea #qea, 3o
fAffa gera @ 38 209 Ia fear Srer g, ar 8% omeT e
foT swt foraer gfaerd & ge & gt & g,

The cost of manufacturer of a tape recorder is Rs. 1150/-. The Marked
Price is fixed at 20% above the cost. What percentage of discount may
be allowed so that there may be a gain of 8%?

fordl AT &7 @G Hed 250/- UV §. SHeT Hiehd Hed 300/- TUT &, T
20% T8 il & fAT s fhdel Ufderd &1 @ 3 Fr g,

The Cost Price of a table is Rs. 250/-. Marked Price is Rs. 300/-. What
percentage of discount may be allowed so that there may be a profit of
20%?

HATYRYT sqTsl Simple Interest:



90.

91.

92.

93.

94.

95.

96.

97.

I AT ol 45/- TAC § 3N A & 5% i a¥ § AT ast 7 sae
IERGIRCIN

If the principal amount is Rs. 45/- and the rate of interest is 5% per
annum, What shall be the interest in three years?

g A 1000/~ TUC § AR ;TS & 6% i a¥ § o a¥ 6 A=t
7 saTr foRaer grem.

If the Principal amount is Rs. 1000/- and rate of interest is 6% per
annum, what shall be the interest in 3 years six months?

e FHAUA W 5% aT¥eh e W 2 sl H 50/-390 Tl AT ¢ gla.

On what Principal amount the simple interest payable shall be Rs. 50/- in
2 years at the rate of 5% per annum?

fohcal T W 5-1/4 % af¥h X W 1 a¥ 3 A=A H 31.50 WA
SITST & g1

On what Principal amount the simple interest payable shall be Rs. 31.50
ps in one year 3 months at the rate of 5% % per annum?

aﬁ6.25%arfﬁ$a?qwzaér3ﬂéﬁ;ﬁﬁaframﬁmwwm

312.75 9T g1 ol Hel el &I Tl oMy,
Find the Principal amount if the simple interest paid is Rs. 312.75 ps in 2
years 3 months at the rate of 6.25% per annum?

60/- TYT I AT 9 & aut H I 3/- TUC & AT T HITdleT Toham
ST €, d ar¥er sIreT &X fohaer gl

What is the rate of interest per annum, if the interest payable is Rs. 3/-
in two years on a sum of Rs. 60/-?

180/~ FqT T A W & a¥ 4 #ASAT H ARG 42/- TUT AT T HITAA
T ST & o ari¥es aTeT e¥ fohder gel.

What is the rate of interest per annum, if the interest payable is Rs. 42/-
in two years 4 months on a sum of Rs. 180/-?

1080/- T T AR WX aF a¥ 6 AT H IS 90/-F9T & AT ol
AT fohaT SITelm § T aTi¥eh saTeT X fohctll g1af.

What is the rate of interest per annum, if the interest payable is Rs. 90/-
in two years 6 months on a sum of Rs. 1080/-?



98.

99.

100.

101.

102.

103.

104.

105.

IfE 2-1/3 % TS T @, al 6500/-F T&H W fohder gt H FTEROT
STTST 455/-% g,

In how many years a sum of Rs. 6500/- yields a simple interest of Rs.
455/- if the rate f interest is 21/3 %

gfe sTOTaT X 12% @, ar 1875/-390 {hHA W fhasr aufd amemur sarer

675/-% ST AT BII.

In how many years a sum of Rs. 1875/- yields a simple interest of Rs.
675/- if the rate of interest is 12%?

fhday adi # 6500 ¥TUT THA W 6% d¥H T W I H 7670/-F9C
In how many years a sum of Rs. 6500/- becomes Rs. 7670/- at the rate
of 6% per annum?

12Y2 % aif¥er gT 9 2 asf & 2250/-%9C g, a Hel &7 fhefar glam.

What is sum of money that becomes Rs. 2250/- in 2 years at the rate of
12'/, percent per annum?

Ifg e ay ©g Hel H 2750/- THHA 3570/-F @, ar SATST &I T Il
ST,

Find the rate of interest if the sum of Rs. 2750/- becomes Rs. 3570/- in
two years six months?

HeItel 1020 ¥U0 3N aTi¥eh AT & 8% @I, of 3 a¥ 4 HEWT H TRY
[ELCURSCE

Principal amount is Rs. 1020/-, rate of interest is 8% per annum, What
shall be the amount in 3 years 4 months?

@W4%WWWW3IZLE@T3—T\T8%WW

TSl 9T 324/-% @I, ol HAUe R HAT & gl o@mue,

A certain sum of money amounts to Rs. 312/- at 4% simple interest per
annum and Rs. 324/- at 8% simple interest per annum. Find the Principal
and period of time?

Ifg $o WA AT st 7 515- 8 3 6 st A 530/~ FAC LA Fel
T 3R SIS e AT T ST,

If a certain sum amounts to Rs. 515 in three years and to Rs. 530 in 6
years, find sum and rate of interest.



106.

107.

108.

109.

110.

111.

112.

113.

fhade @t H 5% 9T 1200/- &l sTTST, 2.5 d8f A 7.5% 9 800/-F &
SISl & sRT&X 1.

In how many years the interest on Rs. 1200/- at 5% is equal to interest
on Rs. 800/- at 7.5% in 2.5 years?

fhde THAT H 10% T T 9T 3600/- &1 Tl 4 a8t & 12/ % Hfr e

9T 1800/-F o TSl & S« grafr

In what time will the interest on Rs. 3600 at the rate of 10% be equal to
the interest on Rs. 1800 at the rate of 121/2 % in 4 years?

fhdel asf & $& & 16-23% H T W Fql & F (1) AT (2)
fAareT B &,

In how many years certain sum amounts to (i) double (ii) three times to
principal at the rate of 16%3%7

PIA-AT T W 15 AGEAT H 480/-F T sTTST 9 HAGAT H 5% &Il &X W

800/-% o sITST & STaY g4,

At what rate will the interest on Rs. 480 in 15 months equals the interest
on Rs. 800 at 5% rate of interest in 9 months?

HIg AT 15% HURUT Aol W FT IhA 3UR ofdl § AR 2 I 8
HEWA & 37 #9240/~ FUT I AT FX 3@ fFedy X g, d 4R

Y A FHT IaT TIMU.

A man borrowed some money at 15% simple interest and cleared the debt
at the end of 2 years 8 months, by paying Rs. 9240. Find the sum
borrowed.

450 &. $r Tfr 2 auf & 495 3 g & 3T sASF T W 820 F. fhaa

TAT H 943 . glél %’ A sum of Rs. 450 amounts to Rs. 495 in 2

years. In what time will the sum of Rs. 820 amounts to Rs. 943 at the
same rate?

1,250/-% &1 T 6% ¥ a7 W fovda AT H 1,400/-% g ST,

In what time will Rs. 1250/- amount to Rs. 1400/- at 6% per annum?

Frs TR WA AT W 16 ast F I gt ¢ el aut & ag af¥r

GIG] Ul?ﬁ g If a certain sum doubles itself in 16 years at simple
interest, in how many years will it triple itself?



114.

115.

116.

117.

118.

119.

120.

121.

3% 9fd ¥ ST T T W 1000 T. & AT 4 st & AT ST

fohcelT 89T Find the simple interest on a sum of Rs. 1000/- for 4 years
at the rate of 3% per annum?

250/-% &I THA W 4 I8t & fAaw 29 aI¥F &7 W AYUROT AT &
qdT ST,

Find the simple interest on a sum of Rs. 250/- at 2% per annum for 4
years?

4,000/-%F HT A W 6 A & AT 4% T G I AR AT H1
qdT e,

Find the simple interest on a sum of Rs. 4000/- for 6 months at the rate
of 4% per annum?

800/-%. I A W 4 gt & favw 2', % affe aT W AR AT &7
qdT e,

Find the simple interest on a sum of Rs. 800/- for 4 years at the rate of
2'/, % per annum?

10/-%. &1 A W 4 A & v gfad A% 9fd 3903 3 89 &1 ¥ ®

ATYROT ATl &7 9T oMY,  Find the simple interest on a sum of Rs.
10/- for 4 months at the rate of 3 ps per rupee per month?

25 BEY ¥ 9 HS, 1975 doh 9% aT¥eh &l W 125/-F & JTURUT ATl
T T ol9u<:,

Find the simple interest on a sum of Rs. 125/- at the rate of 9% per
annum from 25" February to 9" May, 19757

30 fAdeY 1975 ¥ 31 AML1976 dd 2% al¥eh &I 9T 700/-F & TTEROT

STTST &I IdT SI9u:,

Find the simple interest on a sum of Rs. 700/- at the rate of 2% per
annum from 30" September, 1975 to 31% March, 1976?

ABAR & 39al a&d H 600/-F. FT TERIAT $HI STFT NS ATl &I

5% AT. Ig 4 duf & &I¢ HAGIHR I fhdelr TR argT .

Mahavir helped his friend by giving him Rs. 600/-. The rate of interest
was 5% per annum. How much money will he return to Mahavir after
4 years?



122.

123.

124.

125.

126.

127.

128.

129.

130.

325/-%. U 3 guf T SATT 39/-F g, Y aIiSeh sATeT X fohdsil graf.

The interest on Rs. 325/- for 3 years is Rs. 39/- Find the rate of interest
per annum?

5 st & T 1200/- T ST FTUROT AT 360/-F g, o dI¥a AT &
I Il oMU,

The simple interest on Rs. 1200/- for 5 years is RS. 360/-. Find the rate
of interest per annum?

ehe TG H SIgAISIhA &l Hed 2500/- . §. 3§ 9 A 250/-% &
HITTA A §C Th I¥ H 8 Ther S Fhem &, @ s & fohehely
grafr.

A bicycle costs Rs. 2500/- if purchased in cash. It can also be purchased
by paying Rs. 250/- per month for a year.Determine the rate of interest?

Ife T 16 ANt & 3id A AT &eT & e e 3fh e Har g, o
sgToT &X fohdair graf.

If A gets three times the money invested at the end of 16 years, what is
the rate of interest?

TiE 400/~ &. 4 @St 7 480 %. g, o SATST & H 2% & g gl W AR
# foraetr gfg gl

A sum of Rs. 400/- becomes RS. 480/- in 4 years. What will it amount
to if the rate of interest is increased by 2%?

Ife 500/-F 2 g8t H 540/-F. gldr &, aF aIf¥er sareT &3 fohasr g,

If Rs. 500/- becomes Rs. 540/- in 2 years, what is the rate of interest per
cent per annum?

O Ul IUR & A 2 a8 F Tt 2520/ T 8, 3R 5 ast & 2700 @.
g a su &Y fohder g,

A sum of money lent out at simple interest amounts to Rs. 2520/- in 2
years and to Rs. 2700/- in 5 years. Find the rate of interest?

frder AT H 5% ¥ &¥ W 300/- T. &7 TTYIRUT sITT 30/-F g,

In what time the simple interest on Rs. 300/- at the rate of 5% p.a.is
Rs. 30/-?

fhdey @AT # 1100/-% 5'7, % IVF & W 1331/- 5. gL,
In what time will Rs. 1100/- amount to Rs. 1331/- at 5% per annum?



131.

132.

133.

134.

fohder THT H 5% AN &¥ W 800/-F. HT AT T 4% dT¥eh &I W 8
ast & foT 500/-%F & TST & & & g,

In what time will the simple interest on RS. 800/- at 5% per annum be
the same as the simple interest on RS. 500/- for 8 years at 4% per
annum?

5% aI¥eh & W 6'/, % aNl # 286/-F AT &, ol FHel Ul fohctall Fram.

What sum of money will produce Rs. 286/- interest in 6 years at 5% per
annum?

3UR A ofed o & AURT sge 2 awf # 440/%F § AR 5 af &
500/-% §, o Hel el fohclelr gHam.

A sum of money lent out at simple interest amounts to Rs. 440/- in 2
years and to Rs. 500/- in 5 years. Find the sum?

P IEH 6% aT¥H T W 1000/-F oar § 3K 3, % ast & 3d &
360/-% AR U ©IST Sl 38 [Fordy ol &, o 3 &l Hod fehclell
g,

A man borrowed Rs. 1000/- at 6% per annum. At the end of 3 years,
he cleared his account by paying Rs. 360/- and a horse. What is the cost
of the horse?

VL Wﬁi’ sl Compound Interest:

135.

136.

137.

12% W ar gt & AT 2500/~ &. & Wehglg ATl T FeT AR & gar
SEIU Y 8 Tshdle SaTel &1 8T Il o,

Find the amount of compound interest on Rs. 2500 for two years at 12%.
Also find the compound interest.

6% WX & gt & T 2500/~ & & <Ushglg SATST I Hel AR I Gar

SEIU. HTY 8 Tshgle saTsl & T gl oeMg.

Find the amount at compound interest on Rs. 2500 for two years at 6%.
Also find the compound interest.

18% 9T 3750/-% (HAU) I 5221.30 %. fhdel gHT & gram.

In what time will it amount to Rs. 5221.30 on Rs. 3750 (Principal) at
18%?



138.

139.

140.

141.

142.

143.

144.

5.000/-% & T 6% 34 af¥er Thgfg eX X Teh a¥ T IHA & Il

AT
Find the amount in 1 year compounded half yearly on Rs. 5000 at 6%.

5120/ & faT 6'/,% & 9fd & a¥ =hglg aX W 6 a¥ & ThA &

YdTl ofdu.

Find the amount in 6 years compounded for every two years on Rs. 5120
at 6'/,%?

3200/- & & faw 2 auf & 5% & T W IIed YR AT AR Thdgl
SATST & & &0 3T fehcter gia.

Find the difference between simple interest and compound interest on Rs.
3200 at 5% rate of interest in 2 years?

AATAT 16% Tshdfg SATS W 7500/~ &. FUR AT &, o Thfg ;ST &I
qdr SEmu,

Ramayya borrowed Rs. 7500 at 16% compound interest. How much he has
to pay at the end of two years to clear the loan?

ATFAT & 9600 &, 3UR forar § 3R ar asf & Jg 12150/-% &, o Tshder

ST X & 9dT o9y,

Sitamma borrowed Rs. 9600 and it is amounted to Rs. 12150 in two
years. Find the rate of compound interest.

ST o 9gel a¥ H 4% uhdel sI6T W SFd & 2,000~ & YR fora
IR sT& a1¢ 7-12% & foar o TR a¥ & 339 F I F g fhder
A gt

John borrowed Rs. 2000 from James at 4% Compound interest for First
year and at 7'1,% from then. How much amount James gets at the end of
third year?

W AFT o 6-1/4% Thdlg TS T 2048/~ . 3UR foram g, 3uR o
ThH H Y dli¥e Uehdfg sTTST T Ad TR 38T & W gEX 3MeHT HI
deahrel fear Srar &, ar 1-1/2ast & ugel cafdd & oI &l Idl o9y,

A person borrows Rs. 2048 at 6'/4% compound interest. Immediately the
sum borrowed is given to another person at the same rate on the condition
that the interest is compounded for every half year. Find the amount
gained by the first person in 1'/, years.




VIIL.

145.

146.

147.

149.

150.

151.

FIS AT 2500/- &. YN odT §. HgPR & & fasheq guegem faded ¢
4% THhaig ST AR @ fehed § ggel a¥ & AT 6% 3N g@v a¥

2%. BTH @Y FisT AT faheq amdes ¢ 3R fohder omeas &

A person borrows Rs. 2500. The moneylender has given two options. First
is at 4% compound interest the second option is at 6% for first year and
at 2% for the second year. Which option is profitable and by how much?

forell 3mear & &Y a¥ & AT 4% THIE AT T 1,000/, STHT I
3w 3% feaforar Rufa & & ofd e & v Fawr 75 & & " &
ol 3eHT & fohretr Y e,

In a bank a person deposited Rs.1000/- at 4% compound interest for two
years. Now the bank is in the state of bankruptcy. It could pay only 75
paise per a rupee. How much amount does the person receive?

IS EHT 5% Thdig sATST W 8000/~ T. 3UN oIl § I a¥ & 3id &
1600/~ aT9® ford 7 gt A a¥ & 3 & fohcen iy &7 g,

person borrowed Rs. 8000 at 5% compound interest, Rs.1600 was paid
back at the end of fist year. How much has to be aid at the end of third
year?

gfaerd Percentages:
148.

Wﬁ?ﬁaﬁzoﬁﬁnﬁwﬁw. 3% 37T T Fiaud
fohdeTr 2.

Sunitha scored 17 marks out of 20 in Mathematics. What is her
percentage of marks?

el Tet # 1500 o . 5 20% HEAT g, 15% SES Ul AY
Rg & T # Rg omt @1 wEar R &
There are 1500 students in a school. Out of which 20% are Muslims,

15% are Christians and the rest of Hindus. Find the number of Hindus
in the school.

Th IMd HT STAHEIT 1000 . S5 & 44% TV, 35% HAfGelis qUT AW
g §. M9 H g4l GE&IAT fhder §.

The population of a village is 1000. Out of which 44% are men, 35%
are women and the rest are children. Find the number of children in the
village?

T QAT A Ig H 10% JEHAAT 1 @ < g A A F 10% AR &
HRUT Hcg & Sl § AR AT 12% T 3eeFd 8ifvd fomar e g



152.

153.

154.

155.

156.

157.

SHE TeAT |ishd 3MGHAT T HEAT 712800 &, ol Tl H HGTAAT I He

GEIT T gl oIy,
An army lost 10% of its men in a war. 10% of the remaining died due
to illness and 12% of the rest were declared disabled. Thus the strength
of the army was reduced to 712800 active men. Find the original
strength of the army?

Teh HGHT & 9 800/- ¥. & SHHA & 3T 25% @A [har. 39 9

AV fohastr T &
A man had Rs. 800/- He spent 25% of it. How much had he left?

Tsh HAE ° HAT H A T H Yaleolid & [T qQ&T # 356 g+
& fAT 50% 31 9od T §. IS ag 163 3w gred T g 3R 37
3R & Wel &1 SIIAT & dr 3IThds 3l &l IdT 9T,

A Group D employee has to secure 50% marks to qualify in the
examination for promotion to Group C. If he gets 163 marks and fails
by 37 marks, find the maximum marks?

HHAT HT 39 drelr & Earelr & AT 40/- & Fer § 98 9@l W
10/- 39T, f@eflalr W 15 & 3R Fosar ) 7/- 39T @ #dr g, AW

& S & FaT FEdr §, aF s9a iy 1 gfara fedar gem.

Kamala gets Rs. 40/- from her father for Divali. She spends Rs. 10/- on
crackers, Rs. 15/- on toys, Rs. 7/- on sweets and saves the balance in a
Bank. What percentage of money does she save?

Tsh Fhel H 500 B §. 398 & 100 §H &, 200 ASfohel W 3R AW
deel Tohel T 8. Tt H Yeel 37T dTel BTAT 1 FTARAT fohcTalr gram.

There are 500 students in a school. 100 of them come to school by
bus, 200 come by bicycle and the rest by foot. What percent students
come by foot?

Il Y TSN @ ST & 3R 3 dde H 50% heldr HT el
¢, "CT I el H Gol: 50% T gig 1 ST §, o 3Tkl gliet &l
gfcerd frceTr giem.

Gupta was placed under suspension and his wages were reduced by 50%.
Again the reduced wages were increased by 50%. Find the percentage
of his loss?

forell aig &1 SeEear A 9fd a¥ 8% 1 W W giE g 7 IR
TAATT ST HEAT 6250 §, dr 2 I & dI¢ SAATEAT fohdeir graf.



VIIIL.
158.

159.

160.

161.

162.

163.

The population of a village is found to increase at the rate of 8% every
year. If the present population is 6250 find the population after 2 years?

$efigrll  Partnership:
TH, ItH 3R ARG F FHM: 8000/-, 12,000/- 3T 15,000/- . @ TH
IR IRA fRAT. T a¥ & 91 7000/-%. & o H 3T BEH &l gar

T,

Ram, Sham and Gaurav started a business with Rs. 8000/-, 12000/- and
15000/- respectively. Find their shares of profit of Rs. 7000/- after one
year?

ALY 3R AT F FAM:4000/-F. 3T 6000/- T. T Th AUR IR .

Wa’éra:ala10006.a:rm§3ﬂ.ma¢ﬁaq—gar$ri%wﬁmm%.

Mahesh and Ramesh started a business with Rs. 4000/- and Rs. 6000/-
respectively. After an year there was a profit of Rs. 1000/-. What is the
share of Mahesh in the profit?

U IR H AT TFF o 4 A & AT 450/%. 3 4 a5 F T A€ &
fIT 600/-F. S, 400/-F & 3T H A7 a5 &1 fEqm hder &.

Mr. X invested Rs. 450/- in a business for 4 months and Mr. Y invested
Rs. 600/- for 3 months. What is the share of Mr. Y in the profit of Rs.
4007

O 3R F T TS Yol o@IeY SAUR 3R T, ﬁ%—graf‘qﬂ AT &
d¢ # YR ¥ §¢ IAT. I a¥ & 3id H 8540/-F. I o1H &L,al T AHh
1 feear forda grm.

P and Q started a business with equal capital. But Q withdrew from the
business after 9 months. If the profit at the end of the year is Rs. 8540/-
, what is the share of each?

olel & SR AR fhar 3R $o qAT dlg Gl 3@ ATfAST I
3% A &1 34 §F IR a¥ & Hd H 3¢ o S §, d gar
MU fF dfel SOaR & Fa s fhar §.

Lal started a business and after some time Paul joined him. If their

investments are in the ratio of 3:4 and their profits at the end of the year
are equal, find when Paul joined Lal in the business?

AT o 2525/- B, Yol oMY MR IR fhar 3R $o 7T & i
arelr 1200/~ & ol oETeT sEH fRe @ o ¥ IR a¥ & g &



164.

165.

166.

167.

AT T el of13T 1644/-F A § 39AT fee@m 1212/~ Aeld &, @ gar efemd
ﬁ;wﬁm?ﬁaa—crarrﬁlﬁgém.

Rani started a business with a capital of RS. 2525/- and Vani joined her
some time later with a capital of RS. 1200/-. If at the end of the year
Rani gets Rs. 1212/- as her share out of the total profit of Rs. 1644/- find
when Vani joined her in the business?

TH AR @A & HAWM4000/-%. 3R 6000/~ & H Yol & TH IR
IR fHaT AR SEF 1500 ¥ F ST Yo g3, Gedeh MR AT
feear fohctet &.

Ram and Shyam started a business with capitals of Rs. 4000/- and 6000/-
respectively and made a profit of Rs. 1500/- what is the share of each of
the partners?

T, & iR & F wAW 5000/~ 7000~ & AR 8000 /- H Yt & TR
YR HRET R, a¥ & 37T & 800/-%. HT T EIH. YAk & REW
gdT e,

A, B and C started a business with a capital of Rs. 5000/-, Rs. 7000/- and

Rs. 8000/- respectively. At the end of the year there is a profit of Rs.
800/-, find the share of each?

Ta 3R A F IuR IR R s9F v A a¥ & favw 500§ & o
15 #ASAr & foIT 400 T, dar A7 & 10 AT & folw 300 & Aaer

uﬁ192w5oﬁﬁm¢§3ﬂaﬁv$%@wmam@.
A, B and C started a business. A invested Rs.500/- for 2 years, B invested

Rs.400/- for 15 months and C invested Rs.300/- for 10 months. If there is
a profit of Rs.192.50 ps, find the share profit of A?

Algd, FEdR 3R aiF & 2 anf F /T 450 ¥ gy T W
HATeT fordT TgAd §. 4 Al doh O Ueh ATY @l o dIG dich of B BIS
fear. 8 ASAT & S AR off 3eler & Siar g, a 9ar o@mus
AigsT a1 fopaer foRmar S giem.

Mohan, Mahavir and Bankey hire a house for 2 years and agree to pay
Rs. 450/- per annum. They live together for 4 months after which Bankey
quits. After another 8 months Mahavir also leaves. Find out the share of
rent to be paid by Mohan?

IX. 3itEa Averages:

168.

7,10,12,15 3R 16 &1 3i\a gdmga.
Find the average of 7, 10, 12, 15 and 16?



169.

170.

171.

172.

173.

174.

175.

9.50 . 0.50 ¥. 8.50 ¥. 5.50 & T AT FT g.
Find the average of Rs. 9.50 ps., Rs. 0.50 ps.,Rs. 8.50 ps.,Rs. 5.50 ps.

T g¥ dled o Ugel feet 20 efeX g, q@ feet 17.5 ofleX gy 3R ey
feeT 21 fex g <= gy arer I 3iad foshr &/ g

A milk man sold 20 litres of milk on first day, 17.5 litres of milk on
second day and 21 litres of milk on third day. Find the average sales of
the milk man?

Teh IoT 9MST o Ugol B¢ H 52 fhaAl, qa¥ ¢ & 60 el 3R e =e
A RAL Mg ag AL AT a¢ 7 o9 A FT TUS & FRUT Tg
haer 26 foral. &1 gl & T X IS, IS I IHrEd AT HT I T,

A train traveled 52 Kms., in the first hour, 60 Kms., in the second hour
and 58 Kms in the third hour. In the fourth hour there was a trouble in
the engine and it could run only 26 Kms, Find the average speed of the
train?

ar gl 3R 3% Tar $r 3dWaa 37 17 9§ § . Jedi AR 3T A
dr 3 37 15 a¥ g Ffe Tareh & 3g 36 a¥ § ar |7 & 3y @
gl oda::,

The average age of two children and their father is 17 years. The average

age of the two children and their mother is 15 years. If the age of the
father 36 years what is the age of the mother?

AT Fexdl &1 3MEd I 40 a¥ &, AR A9 AT Fewdt & 3ad
3Mg 28 a¥ § 3 IR HeEd & 3 g I Il o9,

The average age of seven members is 40 and the average age of three of
them is 28. Find the average age of the other four?

T & 9R &l & Maa w@w 6 T ¢ AT @w gge R 770 T, g@
fesT 630 & dur W &7 10- T @I FLar g, ar A T & + Fgarm

Y T B
The average expenditure of A for 4 days is Rs. 6/-. If he spends Rs.

7.70 ps on first day, RS. 6.30 ps on second day and s. 10/- on third day,
What is his expenditure on fourth day?

HHIR, FIAN dUT UaR & fav 3ied amas 36¢° 3t dées ¢
HITGAR, AR 3R IRaN (Feafdar) & fav e 38° 3 ddes §.
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180.

3R HIreraR H agAE 34° B33 dEEE &, df @EaR T d9HET 41

r.

The average temperature on Monday, Tues and Wednesday is 36°C. The
average temperature on Tuesday, Wednesday and Thursday is 38° C and
that for Tuesday was 34° C. What was the temperature on Monday?

frdr fohche @Ml T 3iad TR 9ra sfeer & 20 & & 3f 38« IR
sfeiall H AW 14,3040 3R 10 THR fhar g, dr grad sieAer H 3efem
3 TR AT g,

The average score of a cricket player for five innings is 20. If he scored
14, 30, 40 and 10 in 4 innings respectively. How many runs did he
score in fifth inning?

frdt 3mea &1 3igad @I gger 9 #HGET H 120/~ T § 3R 30T
g AT A 130/- 39T &, ar a¥ & SNieT 290/- ¥ &Y gUd W W
3T ATAS 3ad 3T fhdar gem.

The average expenditure of a man for the first five months is Rs. 120/-
and for the next seven months is RS. 130/-. Find his monthly average
income if he saves Rs. 290/- during the year?

20 BTET HI HeT H 5 BET of GUeT H Ycdeh 50 3ieh, 7 BHET o 45 37,
6 ©ET of 25 3 3 2 ©Er 15 3 ureg v & ar werm #7 g
THR e ghem.

In a class of 20 boys 5 boys secured 50 marks each in a test, 7 boys 45

marks, 6 boys 25 and 2 boys 15. What was the average score of the
class?

disT gEan3dt & 3Ed 135 & 999 997 &1 180 Ife 3T & TEITaiy

FT AT 25 & O GIH HH TEIT HT IdT AT,

The average of three numbers is 135. The largest number is 180. If the
difference of the other two numbers is 25 find the smallest number?

18 BT & Arad 3 75 &, 18 ©EN e@rT ured Adrad 3@ 50 § 3R
12 BN gaRT 9o 3ad 3 30§ g orE ganr ued dtad 3
foraar €.

The average marks secured by 18 students is 75, the average marks

secured by 18 students is 50 and the average marks secured by 12
students is 30. Find the average marks secured by all?



181.

10 &3t o1 3i|g 137 & I ggs 9 §EIm3y & 3Ed 124 @
3R a7 o gEant & 33aa 14.5 & o gadt g&ar fhaer §

The average of 10 numbers is 13.7. If the average of first 5 numbers is
12.4 and the last 6 numbers is 14.5, find the value of the fifth number.

X. §A9 3T FF Time & Work:

183.

184.

185.

186.

187.

T T H &l 6 feall & G T Fehall § IR & 38 & &1 12 o=t |
R A Fohell 8. Ti I Sl Toh 1Y wF & ol d 3§ I H fohelel
gl # 9 X |hd &.

A can do a piece of work in 6 days and B can do the same work in 12
days. How long will they take to complete it, if they both work together?

el R golrer et fAer ok o o ey 1 8 el 7 Q@ X Fhd
g. 3ifler 3rhelm & 38 12 feall & QT & Fohcl B. o Gollol 3fehell 8
W HA F v fhde f&er o@ia.

Anil and Sunil work together and finish a work in 8 days. Anil alone
can do it in 12 days. How many days will Sunil take to finish the work
alone?

U] Tk I AT 36t H QU H Fohcl § AR aAdleT 380 FF & 6
el H QU # Fehdl §. IS I Gl Ueh WY HA K Al d 3 A Hl
Raju can do a piece of work in 3 hours. Navin can do it in 6 hours.
How long will they take if they both work together?

T Uk S 15 AT & o 25 faAl & aur @ 30 foet A @ A whd
¢ I T A Th WY wE A A A I A fhde oA A @
Tehd B

A can do a work in 15 days. B in 25 days and C in 30 days. How
long will they take to do the work if they work together?

Teh ol @ T A & fav 15 A 3R g@l & & o & faw 12
fAee oerar &, Ife a1 FAdl @ UH A @em AT ar e fhde @' g
H T S0,

One tap fills a tub in 15 minutes and another tap in 12 minutes. How
long does it take to fill the tub, if both the taps are open simultaneously?
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189.

190.

191.

192.
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194.

T o @ 60 Acc A ok X T, S6fdh @ o @ 50 Aee 7 q
Grell fohaT ST Al &. A & o7 & 3R el e ol §C &, @1 &P
Grell el & v fohder Ty o@ram,

One tap can fill a tank in 60 minutes while the other can empty it in 50
minutes. If the tank is full and both the taps are opened, in what time
will the tank be emptied?

WY 3R AW &l A #R UE F H 15 g H Q@ G .
Ife WET 3rehel & 3H HF T 12 el & QU AT Fehehl Bl vl 30
SR B QU Fel H AW Hl fhdell AT o3,

Sandeep and Sekhar together can do a piece of work in 15 hours. If
Sandeep alone can do it in 20 hours, how long will Sekhar alone take to
do the work?

U ool GaRT Ueh Chl &l 6 Ol H 8T ATl §. 4 €l & d1g Ehr &

fohcleTT $119T WTell IG9M A cistern can be filled by a tap in 6 hours. After
four hours how much part of the cistern will remain empty?

&l Jof Teh Tl &I HAA: 6 3T 7 Adgel & ) Fha & I =1 Jar
FITH & dc Teh Th-Ush [Hele & foIT @l JAT ar ey R & fordar
AT 3.

Two taps can fill a cistern in 6 and 7 minutes respectively. If the taps
are opened turn by turn each for a minute, find the time taken by them to
fill the cistern?

TR &Y o T & 1/3 AT F1F & ohd §. T 3 39 FRT H 12
et 7 O #X WFaT § 39 FE F IFFA QU FGT A ST HifehdeT
AT 39T .

A and B can do 1/3 rd of a work in a day. A alone can do the whole
work in 12 days. How long will B take alone to finish the work?

T AR & R @ A 10 A AR Fhd €. o goX & 15 et A
3R A AR T2 R A @ R FEd E

A and B can do a piece of work in 10 hours. B and C in 15 hours,

while C and A can do it in 12 hours. How long with Raju take to
complete the work independently?

I 8 afdd @a & 12 Al H *ers F Tha & aF 6 afFd 39
Y IR I W H fvdel et # @le ded &,
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199.

200.

201.
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203.

204.

If 8 men can mow a field in 12 days, in how many days would 6 men
mow another field which is 4 times as big?

Teh gl @l H 200 FiFadl & fAT 24 Hocllg H WG §. Igd T
& Id H 80 »FAAT Fr Ugel AT & 3id H iR 80 eFfFd 3T,
3o faT @igy qerd fras 6t & fow g giem.

A garrison of 200 men has provision sufficient for 24 weeks. At the end
of the first week a reinforcement of 80 men arrives. How long did the
food last them?

Teh dheR o Teh Hseh 100 ool # G el a1 &b ferar. 38 110
A A Aged fhards  fEHt & de 3 a@r 6 dhad & & 9
B3 & 3 AT W QU e & fAv AR fhdr afda=t a1 fagea

T B

A contractor undertook to build a road in 100 days. He employed 110
men. After 45 days, he found that onlySd could be built. In order to
complete the work in time how many more men should be employed?

GENERAL MATHEMATICS

5978+6134+7014=? A)16226 B)19126 C)19216 D)19226

18265+2736+41328=? A)61329 B)62239 C)62319 D)62329

39798+3798+378=? A)43576 B)43974 C)43984 D)49532

9358-6014+3127=? A)6381 B)6471 C)6561 D)6741

9572-4018-2164=? A)3300 B)3390 C)3570 D)7718

7589-7=3434 A)721 B)3246 C)4155 D)11023

9548+7314=8362+? A)8230 B)8410 C)8500 D)8600

5358X51=? A)273258 B)273268 C)273348 D)273358

360X17=? A)5120 B)5320 C)6120 D)6130
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206.

207.

208.

209.

210.

211.

212.

213.

214,

215.

587X999=? A)586413 B)587523 C)614823 D)615173

935421X625=7 A)57564125 B)584638125 C)584649125

D)585628125

12846X593+12546X407=? A)12846000 B)14203706 C)24038606
1307X1307=? A)1601249 B)1607249 C)1707249 D)1708249
12345679X72="? A)88888888 B)888888888 ()898989898 D)999999998

3f38 o 75,65,82,67 3T 85 37k ( 100 H ¥) ureg v & 3aa 3=

ddru.

David obtained 75,65,82,67 and 85 marks(out of 100).What is his average
mark?

UE QEAEed # R & e 510 3R 3w a7 240 @@fea ama €
aaR & 2 g arel 30 feafl & #E & il & 3iad aear
g.

A library has an average of 510 visitors on Sundays and 240 on other
days. The average number of visitors in a month of 30 days beginning
with Sunday is?

Teh el H 16 oISt &l 3iGd gt 50.25 fR.aT. § JAT AV 8 TSl &l
ol 45.15 fh.am & oISl o g JolaT & §.

The average weight of 16 boys in a class is 50.25 and that of remaining
8 boys is 45.15. Find the average weight of the boys.

T HET A 35 OE H 3T T 16 a¥ & g7 & 21 o A T

3 14 ay & AY 14 BEF §r 3Ea AT 4T §. The average age of 35

students in a class is 16 years. The average age of 21 students is 14.
What is the average age of remaining 14 students?

s fohche T@ATST &1 10 #T 7 3i9a TR 38.9 &, Ife dgor 6 &l &r
daa TR 42 § ar faw 4 FAF Fr e F=4r

The average score of a cricketer in 10 matches is 38.9. If the average for
the first 6 matches is 42,find the average of the last 4 matches.
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3.5 &l 9faerd & & H & for@r a1 ehdr .

3.5 can be expressed in terms of % as

ﬁ@ﬁmﬁmﬁwzmsﬁaﬁﬁﬁﬁzszmy—cﬂﬁg@
3cdror gfaerd #2ar §

270 candidates appeared for examination of which 252 passed. The pass %
is

1987.50 &., 2650 T T fohdem gfaerd &,

%) 60% W) T75% 9 80% ©) 90%

What % of rupees 2650 1s 1987.50?
a)60% b)75% ¢)80% d)90%

3 u¢ &t ol fohctell 9idrd &.
What % of a day is 3 hours?

7omﬁﬁﬁ§§7oﬁﬁmmﬂ§3ﬂ.mwa€rﬁ%mw%
I gain 70 paise on Rs 70. My gain % is

T Gl arel o 420 & A 70 fnam 3 @lier 3R 6.50 % far famel

I e A Q A 97 AT, 38F o1 FT gfdRrd 4T giem.

A shopkeeper purchased 70 kg of potatoes for Rs 420 and sold the whole
lot at the rate of Rs 6.50 per kg. What will be his gain %?

350 ¥. I aX & 100 HAk TG 1T AN 48 %. golef HT & § 9 T
ST AT @7 T U STl 100 oranges are bought at the rate of Rs
350 and sold at the rate of Rs 48 per dozen, The 5 of profit or loss is:

T SAfFd 1400 5. H dsfre @ledr § 3R 155 & & gifed 9 J=9ar &,

arsferel 1 fasha Hed 41 §.
A man buys a cycle for Rs.1400 and sells it at a loss of 155. What is the
selling price of the cycle?

forell g W aE] dUA § UH hidd @ 20% o< giaT §. i g 39
I STH W 99T § o 38 fohdar gfavra ore gram.

A man gains 20% by selling an article for a certain price. If he sells it at

double the price, the % of profit will be:
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226.
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229.

230.

231.

Teh gfad o 16,800 & H 18 Toldl 9T ToIHA 3 Toldll & olEId Hod &

AT TTA FHT o1 g3, qold] T AT Hed T &.
A man sold 18 cots for Rs 16,800, gaining thereby the cost price of 3

cots. The cost price of a cot is:

Uh AFd A 34 % H 8 AT I & W el 3N 57 & H 12 FI X W
ST, 45 T, IF HATA & o fFadar a9 ST g,

A man bought apples at the rate of 8 for Rs 34 and sold them at the rate
of 12 for Rs 57. How many apples should be sold to earn a net profit of
Rs 457

3T T Ceac arel o 10% oITH 9T 39T TTHTT ST 3T 20% AT

T A g5, IHHT @I FT IS ST
A fair price shopkeeper takes 10% profit on his goods. He lost 20% goods
during theft. His loss percent is:

Teh egfed Ueh HIA 38h Hed § 10% HH W Wi § AR 385

Hed AT 10% 13 W SIAT §. 3Hb ol$T AT gliad T FfAHT AT,
A man buys an article for 10% less than its value and sells it for 10%

more than its value. His gain or loss percent is:

Teh FYS & MR o 20% T W Hus HT e fwar s=r , AW
AT & 3T BT H 20% Bl F SAT AT AV 1T Hl AN Hed T

ST, QX oA-8ol H 3Tl ol AT Gliel  fehedelr giam.

A cloth merchant sold half of his cloth at 20% profit, half of the
remaining at 20% loss and the rest was sold at the cost price. In the total

transaction, his gain or loss will be:

MEH F Uh a&q &l Tolee Fed 2000 TIT § TAT 38 20% 3R 10%
m@aﬁgqamw.mﬁwa@wm.

List price of an article at a showroom is Rs 2000 and it is bring sold at
successive discounts of 20% and 10%. Its net selling price will be:

Teh W o & T Hed 1500 . § U7 3H W 20-% & e & 8.
faer e 1104 & F F AT arEe @1 3N el oo &l gt A

fan is listed at Rs 1500 and a discount of 20% is offered on the list
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237.

238.

price. What additional discount must be offered to the customer to bring
the net price to Rs 1104?

Teh TSl T Hiehd Hed 720 . §. & HiA% T & & g Ueh Aled
o 38 550.80 ¥ W WASLARE g P 10%8 o A T foheleT
gfderd g

The marked price of a watch was Rs 720. A man bought the same for Rs
550.80 after getting two successive discounts, the first being 10%. What
was the second discount?

Teh SAORT o U a&d @ ifehd Hed oETd HoF I 10% 3H&h TG,

I AT 38 FS Fe & AR 1% H g g3, Fe 1 gfaerd e

A trader marked the selling price of an article at 10% above the cost
price. At the time of selling, he allows certain discount and suffers a loss
of 1%. He allowed a discount

Ife T = 2:3:4 § o WA "H/w = #7417 §
If A:B:C = 2:3:4, then A/B:B/C:C/A is equal to:

gfeg Ty =2:3, = 4:5 IR & D= 45 6:7 g A THAD - g
If A:B = 2:3, B:C = 4:5 and C:D = 6:7, then A:B:C:D is:

T U S A 18 Al H gar &f 38 & A T gany fov v gAY &
MY 7 G AT g ARG I QAT Tk /Y HA Y A v G A 9

forceT 1 T Tha .

A can finish a work in 18 days and B can do the same work in half the
time taken by A. Then, working together, what part of the same work they
can finish in a day?

Teh cgfed TRl & #T 5 el F QT A Fohell § oAfehal 38 qF I
eI § dg 38 3 foell & QU T Gohell §. YT 37hell 38 S A
fohcel Tl & 9 T FehaTl &

A man can do a piece of work in 5 days, but with the help of his son,
he can do it in 3 days. In what time can the son do it alone?

T fheg &7 AT & O & [A9Y F 16 AT #F Soar § ik @ 39 12
feett o fooT Thar & & Y TEaT ¥ 3 3T FF F 4 A F @ W
Thd §. W 3ol 3H 1 HI el Gl 7 Q@ T Fehem &
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244,

A can lay railway track between two given stations in 16 days and B can
do the same job in 12 days. With the help of C, they did the job in 4
days only. In how many days C alone can do the job?

Teh 1 B QA H T, & & GIAT AT A &1 A AT oIl .
3 Mt Ao 30 F & 2 Gl # @ & F@hd & ff el 30 F

Fr fordar fear & T h Hehdl % A takes twice as much time as B or

thrice as much time to finish a piece of work. Working together, they can
finish the work in 2 days. In how many days B can do the work alone?

TR ATmad A 2 RAT A SR A s A AqmdEr ke
20 f&at 7 g &Y weha g ARG © Y 3R A o A w A 3w

aﬁﬁﬂﬁﬁﬁ@ﬂﬂﬁ%AandBcandoaworkin 12 days, B

and C in 15 days, C and A in 20 days. If A, B and C work together, in
how many days will they complete the work?

TUGH HT F 48 HaRarg Nt iR A o Aot 3 ger & qar v
3R & AR 38 2 el # QA Hehd §. 3hel 38 HI H R A
H o & fohder 9T S9N

A can do a piece of work in 4 hours; B and C together can do it in 3
hours, while A and C together can do it in 2 hours. How long will B
alone take to do it?

T {8l 1o &l 30 & THT H QU Al ¢ foicdel # & 3R 8@ Ao
T A §. IS T 3R & v @Y 38 w7 A0 T 7 R A 3ehed
50 faalt 7 qu & § v o kel F A e et A qu e

A can do a certain work in the same time in which B and C together can

do it. If A and B together could do it in 10 days and C alone in 50
days, in how many days B alone could do it?

ST T Il A ST ofieT T[T 3eST HIH HAT § 3R PIS Fra o A

ool # 60 feot e THT & U A Fohell §. I alail AR 30 S

@l fohctel feal @ QU X Hhd &.

A 1is thrice as good a workman as B and therefore is able to finish a job
in 60 days less than B. in how many days they can do it together?

fordlt & & T 15 feel & AR A 20 AT A q@ A Fhar & AC A

el A 4 8T 1 &Y AlhH &1 fhdeT 9T AW gEm.

A can do a work in 15 days and B in 20 days. If they work on it
together for 4 days, what is the fraction of the work left?
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T 4/5 $9T 1 20 feall & QU F Fehll §. 9 g f N Fofarar & 3R
aleAl Aot AV SR 3 feadt # QU X §. o bl 30 SR @A U

A A ordedl AT .

A does 4/5 of a work in 20 days. He then calls B and they together
finish the remaining work in 3 days. How long B alone would take to do
the whole work?

forer fohell R &1 3 feat & g X Fehaht & 3R 3fas 30T ®RF &7 2
feat & @ T FehaT 8. Sl AR a8 T QT A § 3 150 0T
ara &, 3397 e o1 Rear feaer gem.

Kim can do a work in 3 days while David can do the same work in 2

days. Both of them finish the work together and get Rs 150. What is the
share of Kim?

afg 12 safFa 3R 16 = Rt & & 5 ot 7 13 safFa 3k 24
5H 4 oA # U W T £ T cafad HR da5F ganT v o A
fohT a7 R 1 3HequTeT F4T

If 12 men and 16 boys can do a piece of work in 5 days: 13 men and
24 boys can do it in 4 days, then the ratio of the daily work done by a
man to that of a boy is:

al gisq T 3R & T <hr dr AL 20 3R 30 FAeet # X Thd .
Ife ST uTsal @ U Y IUWT H AT AT A Ehr R F fhder
AT 3T,

Two pipes A and B can fill a tank in 20 and 30 minutes respectively. If
both the pipes are used together, then how long will it take to fill the
tank?

foreT Shr T 9189 T 5 el H, UISY & 10 Tl H JUT 99 Ir 30 "l
H R gafe AT arsdl & T T @rer ST ar T A IR H

ThdeT FHT P,

Pipe A can fill a tank in 5 hours, pipe B in 10 hours and pipe C in 30
hours. If all the pipes are open, in how many hours will the tank be
filled?

T 3R & DT Ao v S FAEM: 12,15 3R 20 sE H sva & T
v H g AT F v qar & 3 W A T8l & uh U " &
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foT @ler ST ar fFder HT & TR Y T ST I, Three taps A, B

and C can fill a tank in 12, 15 and 20 hours respectively. If A is open
all the time and B and C are open for one hour each alternately, the tank

will be full in:

Ueh  TUelle 200 HeT I 24 Jhsl H aisdar §. 3T afa F31 §.

An athlete runs 200 metres race in 24 seconds. What is his speed?

Ueh ISHT 35 HIEY 9T & dpR Td H alsa & o fovdem q#g o
Iie ag 9 fr A gy & afa § g=ar &

How long will a boy take to run round a square field of side 35 metres,
if he runs at the rate of 9 km/hr?

Teh Toh Ueh fAsic # 550 Al &l gl TF Tl g, Sidfh Ueh a9 45
fAeret & 33 Rl gt a7 cr §. getehr a1fd &1 3fe]urey o &

A truck covers a distance of 550 metres in 1 minute whereas a bus covers
a distance of 33 kms in 45 minutes. What is the ratio of their speeds?

T IS 12 AT 7 10 R g S & I 3@hr aifd 5 R g9
A I ST A T8 gl T e A 38 Rl FHT o@,

A train covers a distance of 10.KMs.in12minutes.If its speed is decreased
by Sk.m.p.h, what will be the time taken by it to cover the same
distance?

Teh oISehl 39« B @ Tho! 3 ThATTH. &1 i & STer § 3N
AR TH. & T F dlledm §. I 98 Thel ST IR Tl F I A
5 8¢ ofdl &, o 38 W AR Thod & o 1 gl fovcelr gra.

A boy goes to his school from his house at a speed of 3 kmph and
returns at a speed of 2 kmph. If he takes 5 hrs in going and coming,
what is the distance between his house and the school?

Teh Yo7 MY 108 Th. AT E. hT afd § el §. ATe/dehs H saahT arfd
Cr] )
A train moves with a speed of 108 kmph. What is its speed in M/Sec?

144 fRATgE & afd arell 100 AT ol el sy faegd @ A aR
A & foIv fohdar gaT .

In what time will a train of 100 mts. long cross an electric poll if its
speed be 144 kmph?
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800 Hrex odr Yoremar 78 for.dr. g & aifa @ I W &, I 98 Tah
T I T fAsde & IR S 8, dF 3Th FS18 47§

A train of 800 mts. long is running at a speed of 78 kmph. If it crosses a
tunnel in one minute. What is its length?

Ush AfFd 4% dI¥e ATYRUT &1l IR & auf & T 5000 &. Fr Ao
3YR oIl 8. 98 39 doehlel gAY <ATFd &l 6-1/4 % T AT W
3YR & ST §. 59 ¥R H 3T ali¥eh ot &7 Ul o9,

A person borrows Rs.5000/- for two years at 4% p.a. simple interest. He
immediately lends it to another person at 6 1/4% p.a for two years. Find
his gain in the transaction for per year.

12 aut & GUROT SIS & fhca gfdRrd & ex o AR gIE g,

At what rate % of simple interest will the sum of money double itself in
12 years?

aif¥eh 3R 377 ar¥er T gig TS W 4% aTi¥eh e W 1-1/2 aNf &

forw 5000/ & AR W ured Tk g sATST F & FT AR TAIT.

What is the difference between compound interest on Rs 5000/- for 1 1/2
years at 4% per annum compounded yearly and half-yearly?

I =shglg saTsT &1 fohE & 9X 1200/~ . & TRY @ ast 7 1348.32/-
T. gl Sea.

At what rate compound interest per annum will a sum of Rs 1200/-
become Rs. 1348.32 in 2 years?

30,000/-% T AR TR 7% dTi¥H dhdig AT 4,347/- . . a5t &
FHAIIGMY Tcdve.,

The compound interest on Rs 30000/- at 7% per annum is Rs 4347. What
is the time period in years?

1000/- ¥ &T A 9T 10% a1f¥ T W 4 auf & a1 JrarRoT 3R
ThdlG SATS & A H FAT AT g,

What will be the difference between simple and compound interest at 10%
per annum of a sum of Rs 1000/- after 4 years?

25,000/~ &. I TR TR 12% H & W 3 IS0 & oG Ahglg sTTsl

g,

What will be the compound interest on a sum of Rs 25000/- after 3 years
at the rate of 12%?
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T o 5% Wshdlg sATST W 2 auf & foIw 8000/-%. IR STAT . SHeAI
aRueadr Hea e gem.

A invested Rs 8000/- for 2 years at compound interest of 5%.What is the
maturity value?

4% dIf¥sh eX W 2 aul & fov Fo AR & AuRer 3R THqle STt
& T HT HR 1/-% 8, A He T Fohcelr glam.

The difference between simple and compound interest annually on a certain
sum of money for 2 years at 4% per annum is Rs 1. What is the
principle?

6 faefiar & T 9 # 50 3R H & 34,23,29,32,11,43 31 ured fohul

3ot ST 3Ed T §.
6 students secured 34, 23, 29, 32, 11, 43 out of 50 marks in a paper.
What is the average of the marks?

T o 12.5% 9fd 9§ sI1aT T W § st T 39T & T 6500 &, f@aer
forar. gaut & ae 38 fohder UfA Feeh.

A invested Rs.6500/- at a rate of 12.5% per annum interest for a period
of 8 years. How much amount will he get after 8 years?

forely Tper A 10 df e & T 3R S QAT H 44,46,38 40 BF ©.

el 7 3Ed frae o7 £
There are 44, 46, 38, 40 students in A, B, C & D sections of 10" class
in a school. What is the average students in a class?

3R 200 TAT T TSGR AT, 38 3 F. hl &F T 2 coled T
e 3R 12 3. 2o & BEE T 2 o ol Tl 39 99 hdar
ufer A gef.

Aravind has taken Rs.200/- to the market. He has purchased 2 dozens of
oranges at Rs.3/- per fruit and 2 dozens of plantains at a cost of Rs.12/-
per dozen. What will be the balance he will have?

TR & 3: 2 & I H HAUA § AUR IARH ad §. I T &
fREar 24,000%. § ar & &1 fewar fohcde §.

A & B started a business investing a capital at the ratio of 3 : 2. If As
share is 24000/- what is the share of B?



273.

274.

275.

276.

2717.

278.

7% 9 dY STl T e¥ W 5 guf & flv 2000 T G HTT AT
ERGIRICI

What is the simple interest for Rs.2000/- at the rate of 7 € % p.a. for 5
years?

2000 T FAIMUAT & AT THAT AGT HT JTTTEAT 27860 AT 2005 FHr

AT H FATEAT H 5% H I g% g b g5 Fame.
The population of a town during 2000 census was 27860. During 2005

census the population has increased by 5%. Calculate the increase in
population.

fordt Tues faUT ¥ @1 fRET Tliaw Ao & 260 F9T, arg. 3 el
1 FRTET 750 &. . I HI hihd 2 TlTR &3 dur T argh.3 feaw

FT eohe @lear & 3R 1500 TUT a1 & ar 39 Fday 9T aag AT,

The railway fare to a place by sleeper class is Rs.260/- and AC 3 tier
charge is 750/-. If a man purchase 2 sleeper class tickets and 1 AC 3 tire
ticket and given Rs. 1500/- what will be the balance he will get?

Teh HAGRT A Fel IRATET 17650 &. 8. fS@d @ Refatad
aﬂﬁ?ﬂ' $r E'Ié'

The total emoluments of an employee is Rs.17650/-. Out of this following
deductions are made:

gl AT - 1060 & WRes Afasy AT - 5000 . FweT AT
#ccl - 1260 . 6 fAHATOT $Tedl - 2300 &. IR HfIA - 150 .
ST - 30 T. SIS F 150 &. §. 3P g dder  fohde
g.

PF - 1060,VPF - 5000/-, HRA- 1260/-, HBA - 2300/-, Festival advance
150/, CGIS-30, Professional tax 150. What is his take home salary?

10% 9fl ¥ s&Tel & &7 W &1 asf & 6000 &. HAUA W Ashdfe, STl
fopdeTr .

What will be the compound interest on a principle of Rs.6000/- in two
years at the rate of interest 10% p.a.?

90 fer.#HTIE. & 91 & Tl arell aMeT 1-1/2 T H fohcell g o Il
g.

A train travelling with 90 KMPH speed covers a distance in 1 3 hours.
What is the distance ?



279.

280.

281.

282.

283.

284.

285.

T 1,35,000 & & THh PR WASAT & IR AFAT H 25,000 & G HIAT

g. I 38 10% o1 BT & o $R #7 faha Ao 47 ¢

A purchased a car for Rs. 1,35,000/- and spent Rs. 25,000/- for repairs.
At what cost the car was sold if he earned 10% profit on it?

72 fFAT g & afad T o arelr 70 AT & AEr 130 Hel o9
T TATHIH H IR el & [T forgar AT &l AT Ashar &
fear e,

How long a train 70 mts long travelling 72 KMPH per hour? Take to
pass a station platform of 130 mts long. The time should be given in
seconds.

T SeR A9 AT N T qod T 10% A& Fqed 3ifehd axar § 3R
SHH 10% & B &l . SHA 3Heh ol IT F1lel &1 FTAAT T .

A dealer marks his goods 10% above the cost price and allow 10%
discount. What does he gain or loose percent?

50 oSl & Uk BEEN H 40 BT & fow @y a#edl 3udsy §. I

30 Y oISeh AMAS & I ¢ dl Ig Wied AHA Tohclel Tt <Telal.

In a Hostel of 50 boys there are provisions for 40 days. If 30 new boys
joined how long will these provisions last?

o5 fraY. wa. &1 3iad 1fd & T W 3Y 9 A TFENE [AehelEg
¥ 1 g 50 fAee &7 Foiide ggadt ¢, Rseeme 3R Fefive & &=
I gl fehctall 8.

AP express running at an average speed of 95 KMPH reached Kazipet

from Secunderabad in 1 hour 50 minutes. What is the distance between
Secunderabad and Kazipet?

40 T TqplesT FHUS A Hed 2,440/-F §. 22 HIST FUS & HT Hed

FIT &

The Cost Price of 40 mts of terricotton cloth is Rs. 2440/- Find the cost
price of 22 Mts?

WWW%W@W@&MWTMM Flel & 9 Uhs
98 # fArfaf@d e 3R @ad ¥ | . 6T & 379 & a7
fofte & 9 3y Fo TR fhael 8.



286.

287.

288.

289.

A pay clerk has the following denominations of currency notes and coins
left in the cash box after payment to the staff: What is the total amount
with the pay clerk at the close of the day?

e Notes el T | WeFh Coins | FAFhichr
Number Number
of notes of coins

Rs. 100/-% & | 157 Rs. 5/-%. & |25

dlc  notes fah  coins

Rs. 50/% & | 132 Rs. 2/-%. & |48

Al notes fah  coins

Rs. 20/% & |92 Re. 1/%. & | 133

dAlc  notes {ah  coins

Rs. 10/ & 18 Rs. 0.50 100

AlC  notes coms

39derd T A G AW AR AT & Ugel 3ueled A & 50% &
SR &1 oY 38 HAAMRGT T fohcelr IR 1 $areir=r T,

In the above question, if the amount left over is equal to 50% of the
amount he had before the payment. How much amount he has paid to the
staft?

T 156 & 765 b Hex ¥d &7 HSRUT haT ST Feha §. ARG 188 &
Ties 17 Hex & JUr WS 1.5 A § ar 7538 Y dears fhdel &

In a pit 765 cubic metres of sand can be stored. If the breath of the
pit is 17 mts and depth is 1.5 mts what is the length of the pit?

fopeY BT T 12,55,000, & F @WleT AT AT 3R 3/ 14,75,000 T F ST

ST &, 3T o Fr gfaerd fhder g

A house was purchased for Rs.12,55,000/- and sold for 14,75,000/- What
is the gain percentage?

T ISR AT ods 18 #Aex 3R dlss 2 Aex & afg 50~ s gfa
9 X F W W B W Gl RO I ¥ w7 g
Ao fhda grm.

One rectangular hall is 18 mtrs long and 2 mtrs wide. If a carpet is to

be spread on the floor of the hall at a rate of Rs. 50/- per sqm., what is
the total cost of the carpet?



290.

291.

292.

293.

Teh ShgR 25 HGiAd20 Afgensii 3R 12 ogar & el & W
ST, 3eTehl dclel shALM: 120/- ¥. 100/- ¥ 3R 70/- FIT §. SheR ¢arl
IR R T 3PEd dde oo # 6 3w fod garm = g 39
AT T fohctall AR T 71T R,

A contractor engaged 25 men, 20 women, and 12 boys on a work. Their
wages are Rs.120/-, Rs. 100/- and RS. 70/- respectively. In August wage
bill prepared by the contractor, showing 6 days holidays, how much
amount had he paid to the workers?

frdT g T FTAEEAT 55,000 8. SAH H 68% THANT ,12% AR Tl
AV ASlY &. Tcdeh *ife H AHAIAAT T &A1 AT Il Fomus,
The population of a village is 55,000. Out of which 68% are farmers, 12%

are traders and the balance are Coolies. Find out the number of villagers
in each category?

T 3R & A 35,000/~ T H AR 5:2 3HeqATd H SieT S AT, ﬁwg
el & Ig TR 2:5 & Jigard & oy ardy A ¢ @l amer v gl
fehcrstT gref.?

An amount of Rs.35,000/- has been given to A&B in the ratio of 5:2.

But, by mistake the amount was distributed in the ratio 2:5. Does A gain
or loose? How much?

Teh Halgy 30 f&all # 4950 /- &. 3ol T §. AT ag 18 f&aA, 101 fef

3R 300 feT & fOIT FH FIar &, A 3HHT A fohdaAT g

A labourer earns Rs. 4950/- in 30 days. What will be his earnings if he
works forl8 days, 101 days and 300 days?

dekeskosksk



B. WA 33 3R sA@0r  GENERAL ENGLISH AND GRAMMAR
I fAeer Jd@e: (ST T g6 AT 150 AeET H)(3ATT 39et A AT qgareT o )

Essay Writing: (in about a page or 150 words) (don't use your name of
identity)
Festivals of India

Diwali

Dasara

Sankranti

Holy - the festival of colours.
Ramzan

Christmas

© Nk =

Pen Friends

9. Excursions

10. Television

11. Radio

12.Libraries

13.Computers

14.My teacher whom I like
15.My best friend.
16.Poverty in India

17.My child-hood.

18. 3% UT&2ATeT & el My school days.

19.1f I were the Prime Minister

20.The Book I like the most

21.The Sport I like the most

22.The cinema I like the most.

23.The National Leader I like the most.

24.The political party I like the most.

25.37¢ U & 97y qdcs T Important tourist places of Andhra Pradesh

26.My hobby.

27.Dowry system

28.Education in India

29.Population in India

30.Reservation policy in recruitment in India.
31. Constitution of India

32.Superstitions - its effects.

33.Indian Railways

34.S.C. Railway and its divisions.



35.Habits - effects on health.
36.Electronic media.
37.Un-employment in India
II. Letter Writing: in about 100 words (Assume your name as A)

01. A letter to your friend inviting him to spend Vacation with you
02. A letter to your friend describing important sight-seeing places in AP
03. A letter to the Editor about the problems in your locality

04. A letter to the Municipal Commissioner for regular supply of drinking water

05. A letter to the Municipal Commissioner describing the conditions of the roads
in your locality.

06. A letter to a leading company for a job of Junior Assistant.

07. A letter to a Post Master complaining about the non-receipt of your parcel
from your friend at Bombay.

08. A letter to your Officer requesting sanction of leave

09. A letter to your father about the new job you have taken up recently.

10. A letter to your friend in America describing the problems of un-employment .

11. A letter to your friend inviting him for your marriage.

12. A letter to your father describing your progress in studies.

13. A letter to your brother congratulating him at his success in the examination.

14. A letter to your friend describing the annual day function of your school.

15. A letter to your fiend expressing condolences on the death of his mother.

16. A letter to a Publisher for supply of certain books by VPP.

17. A letter to a Police Inspector about a theft in your house.

18. A letter to the Editor of a News Papers regarding frequent strikes and bandhs.
19. A letter to your friend expressing your inability to attend his marriage fuction.
20. A love letter to your girl/boy friend.

III. Grammar:

A. Write the Feminine gender of the following:

Bachelor, Boy, Brother, Buck, Bull/Ox, Horse, Husband, King, Lord, Man,
Monk, Cock, Dog, Drake, Father, Gander, Gentleman, Nephew, Sir, Son,
Uncle, Author, Host, Lion, Manager, Poet, Duke, Emperor, Prince, Tiger,
Master, He, Hero, Grandfather, Man-servant, Landlord, Salesman, administrator,
washer-man, Milkman, Grandfather, Papa.

B. Give the Plurals of the following:
Son-in-Law, Daughter-in-Law, Mango, Class, Brush, Branch,
Match, Dish, Watch, Buffalo, Potato, Mango, Hero, Dynamo, Solo,
Momento, Stereo, Kilo, Baby, Lady, Story, City, Thief, Wife, Wolf,
Life, Loaf, Half, Leaf, Knife, Calf, Shelf, Chief, Safe, Man, Mouse, Foot,
Tooth, Goose, Ox, Child, Scissors, Spectacles, Cattle, People, Index, Child,
Radius, Memorandum,

C. Identify the Adjectives from the following sentences:

A. Sita is a clever girl



There is little time for preparation
The boy is lazy

She is afraid of the Ghost.
Kolkata is a large city.

He is an honest man

The foolish old crow tried to sing
He has little intelligence.

You have no sense.

We have had enough exercise

He did not ear any rice

There are no pictures in the book
I taught you many things

Sunday is the first day of the week
I hate such things

He comes here every day

He won the second prize.

He was absent last week

Fill in the blanks with suitable Adjectives:

The prize was won by him

This is a very matter
Suddenly there arose a

The injured man wants

India expects man to do his duty



)

h)

3

e)

g)

h)

J)
k)

D

Have you any reasons to give
There were riots in places

I have no cash

He was a man of ambition
The hand has fingers.

Give Comparative and Superlative degrees:

Speed, Small, Tall, Bold, Clever, Kind, Young, Great, Fine, White,

Brave, Large, Able, Wise, Happy, Easy, Heavy, Merry, Wealthy, Big, Hot,
Thin, Sad, Fat, Beautiful, Difficult, Good, Bad, Little, Much, Many, Late, Old,
Far, poor, less, sharp, industrious, learned, sweet, strong, good, bad, well, ill,
far, in, near, pretty, rich, light.

Fill in the blanks with appropriate words:

Prevention 1is than cure

Tendulkar is the batsman in the world
The pen is than sword

The _ buildings are found in America
The Pacific is than any other Ocean
Who is the boy in the Class

My Uncle is than my father

Ooty 1is than Chennai

Mount Everest is the peak of the Himalayas
He is one of the speakers in Telugu
China is the populated in the world
This is the of my two sons

. Use articles and fill up the blanks:



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

I saw tree in garden.

tree I saw was Banyan.

He is most intelligent boy.
Godavari is longest river in South India.
I want cup of tea.

Ramayana was written by Valmiki.

Iron is useful metal.
Honesty is best policy.
Tirupati is one of pilgrim centers of Andhra Pradesh.

Indians love music.

There is insect in the glass.
Jack and Jill went up hill.
Flowers in garden are beautiful.
Gelelio was Italian scientist.
thief was sent to prison.
He aims to become engineer.
My brother is teacher.
Spain is European country.
I will come in hour.
never saw such incident.
This is __ exercise to test knowledge in English.

I went to hospital to see patient.



23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

dinner was arranged at

Hotel Taj.

His vehicle makes loud noise.

I saw elephant in Z00.

Wordsworth wrote poetry on beauty of
What beautiful flower it is!

He is best friend of mine.

Sun rises in

You are man to do it.
This is historic event.
The passengers want _ help of

He is as stupid as ass.

East.

Lotus 1is beautiful flower.

Look at sky, how beautiful

She wept like child.

According to Bible, God made

Ambassador should be

nature.

few volunteers.

stars look!

world in six days.

man of pleasing manners.

Mussolini was Hitler of Italy.
He is native who knows
Sita is purest woman.

Earth is round.
Draw map of India.

The doctor restored sight to

blind.

way in the jungle.



45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

Twelve inches make foot.

Not word he said.

Wisdom is gift of heaven.

Delhi is capital of India.

Newton was great philosopher.

I met him at church.

A bird in hand is worth two in bush.
The darkest cloud has silver lining.
Copper is useful metal

He is not honorable man

Do you see blue sky
Varanasi is holy city

Alladin had wonderful lamp

He returned after hour

sun shines brightly

French is easy language

Who is girl sitting there

Which is the longest river in India

He has come without umbrella

Mumbai is very costly place

The children found egg in the nest

I bought Horse Ox and Buffalo.




H. Fill in the blanks with suitable Relative Pronouns:

1) We always like those boys

speak the truth

2) He does his best shall be praised

3) I know

you mean

4) She has gone to Chennai

5) He gave away

is her birth place

he did not need

6) Here is the pen

you lost

7) Most people get

they deserve

8) He is a man

9) Where is the book

you can trust

I gave you

10) Listen to

I say

11) Did you receive the letter

12) Do you know

I sent yesterday?

has happened?

13) Do the same

I do

14) God helps those

help themselves

15) No man can lose

he never had

16) That man

does not work must starve

17)He plays the game

he likes best

18) I do not believe

you say

19) you say is not true

20) I gave it to the man

I saw there

21)I know

22) You have not brought the book

23) Please recite

you are praising.

I asked for

you have learnt

I. Join together the following pairs of sentences:



a) I know a man. The man had been to Iceland.

b) The thief stole the watch. The thief was punished
c) Show the road. The road leads to Delhi

d) I met a boy. He was very kind

e) The man is honest. The man is trusted

f) We met a girl. The girl had lost her way

2) He is a rogue. No one trusts him.

h) I have found the umbrella. I lost it.

1) I saw a girl. She was singing.

J) Here is the book. You were asking for the book.
k) This is the building. It was built in a month.

) I met my Uncle. He had just arrived.

m) The boy is my cousin. You see him there.

n) The boy tells lies. He deserves to be punished.

0) Here is the book. The book contains pictures.

p) Give me the ruler. The ruler is on the desk.

q) He has a friend. He is a clever artist.

r) The boy was very proud. He had won the first prize.
S) This is the cat. It killed the rat.

. Split each of the following sentences into two:

1) Bring me the book that is on the table.

2) The elephant that was sick died.

3) I have found the book, which I lost.

4) The boy whom you see there made top score in the match.

S) He is a poet whose works are widely known.



6) The task which you have to do is easy.

. Change the voice:

1) The cat killed the mouse

2) The man cut down the tree
3) Columbus discovered America
4) His teacher praised him

5) The police arrested the thief
6) The boy caught the ball

7) My father will write a letter
8) The hunter shot the lion

9) The girl opened the door

10)  Everyone loves him

11)  We expect good news

12)  They sell radios here

13) I have sold my bicycle

14)  We prohibit smoking

15)  Open the door

16) He was praised by his father
17)  The first rail engine was built by George Stephenson

18)  The horse was frightened by the noise

19)  The teacher was pleased with the boyZs work

20) He was taken to the hospital by his friends
21)  The road was lined with people

22)  Shakuntala was written by Kalidas



23)
24)
25)
26)
27)
28)
29)
30)
31)
32)
33)
34)
35)
36)
37)
38)
39)
40)
41)
42)
43)
44)
45)
46)

47)

The building was damaged by fire
Those cars were built by Robots
The child was knocked down by a car
We elected Babu as Captain
I saw him opening the box
We must listen to his words
Without effort nothing can be gained
Do not insult the weak
My watch was lost
The master appointed him monitor
He made his friend do the work
Prem Chand wrote this novel
I bought the baby a doll
I opened the door
They know me
He taught me to read Hindi
We expect good news
I offered him a chair
We must listen to his words
Who taught you Urdu

Somebody has put out the light
The letter was written by the clerk
He was seen by my brother
Honey is made by bees

I was offered a chair



48) My watch has been stolen

49)  The boy was praised by the teacher
50) He was chosen leader

51)  The bird was killed by a cruel boy
52)  We shall be blamed by everyone

53) By whom was this jug broken

L. Fill in the blanks with correct form of verb given in the brackets:

1) The earth ---------- round the Sun (move,moves,moved)

2) My friend -------- the Principal yesterday (see,have seen,saw)

3) She ---------- worried about something (looks,looking,is looking)
4) He-------- asleep while reading (falls,fell,has fallen)

5) He--------- a mill in this town (have,has,is having)

6) I - a strange noise (hear,am hearing,having been hearing)
7) Don't disturb me.I ----- my homework (do,did,am doing)

8) The soup ------ good (taste,tastes,is tasting)

9) He------- TV most evenings (watches,is watching,watch)

10)  The baby -------- all morning (cries,has been crying)

11) | him at the zoo (saw,have seen,had seen)

12) She ------- unconscious since 4'0 clock (is,was,has been)

13) The sun -------- over the hills (rises,is rise,is rising)

14) When I ------- my dinner,I went to bed (had,have had,had had)
15)  She jumped off the bus when it ------- (moved,has moved,was moving)

M. Change the verbs into Past Tense in the following:



1. Rama writes to his mother every week
2. She sings sweetly

3. He comes of a good line

4. I know him for an American

5. I forgot his name

6. He gets along fairly well

7. He throws cold water

8. They all tell the same story

. Convert the simple sentences into compound sentences:

[

. Hearing their fatherCs foot steps the boys ran away

2. With a great effort he lifted the box
3. Being a cripple he cannot ride a horse
4. He was rejected owing to illness

5. To avoid punishment he ran away

21.Convert the compound sentences into simple sentences:

1. My friend arrived and went for a walk

2. Be good and you will be happy

3. 1 ordered to halt but he took no notice

4. 1 continuously invited him to visit me but he never came
5. He escaped several times but was finally caught

6. He is a good steady worker, only he is rather slow

7. The ink had dried up and I could not write

8. I have lot of work and must do it now

9. He has an unpleasant duty and must perform it



10. He found a rupee and was delighted for his luck

seskskokck



C. GENERAL KNOWLEDGE

1. gf@ca A & by f& Expand the abbreviations:
THIvS SBF- Staff Benefit Fund
H&ITE MBF - Mutual Benefit Fund
&3t CCO - Chief Claims Officer
#193me3n CPRO - Chief Public Relations Officer
#1&F CTE - Chief Track Engineer
#1F CBE - Chief Bridge Engineer
#isE CPDE - Chief Planning & Development Engineer
g PCE - Principal Chief Engineer
dvadid CMPE - Chief Motive Power Engineer
#WAZ CME - Chief Mechanical Engineer
H??WJJ\? CWE - Chief Workshop Engineer
#HRTFE CRSE - Chief Rolling Staff Engineer
&1FF CEE - Chief Electrical Engineer
{’-77?17?-7?' CESE - Chief Electrical Service Engineer

#Igvers CELE - Chief Electrical Loco Engineer



deadls CSTE - Chief Signal & Telecommunication Engineer
#Nflg CCE  -Chief Communication Engineer

&3 COS - Controller of Stores

HOHTH CMM - Chief Materials Manager

&3t CPO - Chief Personnel Officer

&3 T CPO/A - Chief Personnel Officer Administration
&3 HTSHN CPOIR- Chief Personnel Officer Industrial Relation
i3t COM - Chief Operations Manager

#hadtea cPTM - Chief Passenger Traffic Manager
#vBeeA CFTM - Chief Freight Traffic Manager
FTHFANCOFMOW - Central Organization for Modernization of Workshop
#1es CPM - Chief Projects Manager

#13& CRB- Chairman Railway Board

HHRTH CRS - Commissioner Railway Safety

313Rvs DRM - Divisional Railway Manager

#lead? CSC - Chief Security Commissioner

#teda CCM - Chief Commercial Manager



#lo#st CMD- Chief Medical Director

H1e3i & CAO/C- Chief Administrative Officer/Construction
U3 A ADRM-Additional Divisional Railway Manager
UHU U5 HW FA&CAO- Financial Advisor and Chief Accounts Officer
TSHAIvH AGM - Additional General Manager

&8s EDPM- Electrical Data Processing Manager
THSeegUH3 SWSO- Senior Work Study Officer

8¥le7 IRCON- Indian Railway Construction Organization
&vgl IRWO- Indian Railway Welfare Organization

I3 RITES-Rail India Technical & Economic Services
HIWHRE RRB - Railway Recruitment Board

HEIET RCT - Railway Claims Tribunal

HRHRE! RRT -Railway Rates Tribunal

FTEIeF ICF - Integral Coach Factory

57@3’07{ DLW - Diesel Locomotive Works
?ﬁt’ﬂ?’&?‘?\' CLW - Chittaranjan Locomotive Works

HREITPH RCF - Rail Coach Factory



JINseeqv% RWFE - Rail Wheel Factory
HIHRCH CRS - Carriage Repair Shop
HRSITF3HT RDSO - Research Design & Standards Organization

gR¥e IRISET- Indian Railway Institute of Signal Engineering &
Telecommunication

#AigHTEedm CGEGIS - Central Government Employees Group Insurance
Scheme

SISHINEIHTS ZRTI - Zonal Railway Training Institute
IS RDC - Railway Degree College
HeIg STC - Supervisor Training Center

39idlead? APPSC - Andhra Pradesh Public Service Commission

?\??#T UNICEF - United Nations Childrenés Educational Fund
Sseq g3 WHO - World Health Organization

TaTYT LAP - Leave at Average Pay

ATy LHAP - Leave at Half Average Pay

Ug&IT HBA - House Building Advance

HRFUATTOH RELHS - Railway Employees Liberalized Health Scheme
HTSHRNSUA IREM - Indian Railway Establishment Manual

FTEHRHIENT IRCTC- Indian Railways Catering and Tourism Corporation



HGIve7Ter RVNL - Rail Vikas Nigam Ltd
?\T’ﬂ?ﬁ‘ UNO - United Nations Organization
HT3TeHT ILO - International Labour Organization
1. R Ty F %R Fill in the Blanks :

1) o/ — fae & &Lepakshi is in the District of

2) ¥R ot sAFERFEH 7 &

Bharat Heavy Electricals is at

3) TS T FTE - meT 7§

Nagarjuna Dam is in the State of

4) P vFEIT Hag I - & &g Terdt &

Konark Express run between Mumbai

5) IF&HId HON - " Ry 3" Osman Sagar is situated at____
6) FlgerH de - TTT H 3" Kovalam Beach is in state
7) K0/ o —— H f&ya & ICF is situated at
8) q?f' - g — & fRya Sun Temple is at

9) ater W ——————— H RRya & Golcumbaz is at

ORI Z5 C L[ S —— H RR¥a &Qutub Minar is at
11)  GRHAAR -------- # Py & Charminar is at

12) &fE3r ae - # f&ya & India Gate is at___



13) ae & 31w 39T - # Rya & Gate Way of India

14) T Fa dFedt # rRya &

15) ¥ 9RRIT FRGEAT - 7 Ry &

16) T T $Fedt - 7 Rya &

Integral Coach Factory is at

17)  HRNT ¥ T &N 6 &

There are Zones in Indian Railways

18)  gffvr #ex Yord ¥ --——--- #ser &

There are Divisions on SC Railway
19y v ---—----- 7 3c91g & Tar is a product of
20) T g A Fer core o H fPua &

Steel Plant in AP is at

21) T 3oFeT & AT 39T 3T GIAarer ot g

Fuel used for train Engine is or

22) gHING 9T Al 34T FRGIAT --------- o¥ R 8 Wagon Workshop
is situated at on S.C. Railway.

23) gHIFG W HIN [PsaT MFAT FRGIAT - o T &
Carriage Repair Shop is situated at on S.C. Railway

24)  FTATH FT QT AH - -

ELS stands for

25) gHINE 9v fagyd @it 45 - gv & &Electric Loco Sheds

are set up at on S.C. Railway.




26)

27)

28)

II1.

1)

2)

3)

4)

5)

6)

7)

8)

A1 50 A 7 A — & gfofaa fFar amar &

Railway Officers are trained at

grg & fav giyor 97 # - ¥ & Fa g F HIE F AT F T

& enfAer 331 ST FFHar & A brother who is below years of
age can be a dependent to be included in the pass declaration.

............... & 7uf & Reflar & faw &T aIfsw gaeus # sor
3T amar &

A request to CCM is made for release of berths from

??f & YHR Types of Leave:

gorafRE FEfaT A FHAN Felsv ¥ H a7 #r IrHEAF
oz & 9T &

days of CL are entitled in a calendar year for staff in
administrative office.

FAT T F e et # afatle gzt & o Fwe &

days of Restricted Holidays are entitled in a calendar year

o #AgA H Rer sifwer dcer g2t sTaAT # STt 8.
days of LAP are credited in half a year
-1l — Rer 3ref silwer dcer gzt gam P ardt &
days of LHAP are credited in a year.
7 O - - A— guf BT FATEIROT G2 TP B ST Gl 8.
Extra Ordinary Leave of __ years can be sanctioned at a maximum.

Maternity Leave is days.

Rgea gzt - Rat #r &
Paternity leave is ______ days.

vF aR & 3T If0FaH HGT daT FEt - et &

Maximum LAP that can be granted at a stretch is days.



Iv.

D

2)

3)

4)

5)

6)

1)

2)

3)

4)

VI

A Advances:

qgel T FHeT HIPH - o

Scooter Advance is Rs. in the first occasion.
ggell IR Hlew IR HAH - 8
Motor Car Advance is Rs. in the first occasion.

Computer advance is Rs.

Tg fAAfor fAe Fer AT HN AFIE AAT BT - T &
HBA is times the basic pay plus DP

e Allowances:

TA stands for

SH HIASA Labour Organisations:

NFIR stands for




VIIL.

THTEHRCE HiT - -
AIRF stands for

L/ L) o G —

~

JCM stands for

SCRES stands for

el IT TelT fold Say True or False:

RFTaHm aida#ArT 2610-3540 ¥ &
The lowest pay scale is Rs. 2610-3540.

grerad” e T #F RBIRG 01.04.96 & g37at giar

The V Pay Commission recommendations are made effective from
01.04.96.

TET FliHFH HABR AT & TRIE H GGkl a¥.

A peon of CPO's Office can be posted to Vijayawada on promotion.

v# g7 5t vasl FHGR g7 & 95 & v AelwerT # I9RYT gl
#T §FaN &

A substitute in Group D is entitled to appear for selection to Gr C
post.

Ffave fafdF #T dda#1T 4500-7000 & &
The pay scale of Junior Clerk is Rs. 4500-7000.

e FrETT IN-Terw AT &

White paper is non-stock item.



10.

11.

12.

13.

14.

15.

16.

17.

18.

T & U Jaeas A9 9 HidT T &7 E.

Tables and Chairs required for an office are stocked items.

RIge HHTR RN TS & AT e T o & ghel ¢

A supervisory official is entitled to draw a brief case for official
purposes.

doeTAT  3050-4590 H AdeIgg # &X 150 . B
The rate of increment in scale Rs.3050-4590 is Rs.150/-.

gEdr Ao are & FHAEIRAT S qF AT A AT A §

Employees with II Class pass are allowed in GuardCs Break van.

TCAT AR IS T§ I §  T&TH g,

A Station Master is capable to cancel a train.

&Y ARATel Yetreh I dar & Fefed 8.
Chief Operations Manger belongs to Traffic Service.

AT o HAROUT & U HAARAT & FHhT gral T S A&
arar s # FET B

Chief Claims officer has to verify the arrear claims of the staff before
disbursement of the payment.

IRHRATH IFARIRAT Hr #7dT Yo #AT SIS garer $Hr Jdr 8.
IRPS officers are recruited by RRB.

JRTEAT FAT HAGRT T AT T &

UPSC recruits Station Managers.

3MefeTeh Seehl Hcll el aTel JTHIRAT & Aol HAURT &,

Stenographers are personal staff of officers recruited by them.

ST TR @ AgFT Yo o7l §iS ganT & el g
A Bungalow Peon is recruited by RRB.

STl IR T 3R A FIAT AR & A d Ffad
fpar ST &,

Bunglow Peons are initially engaged with the approval the officer
concerned.



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

Teh TSl SITell TR 120 feaAT &1 faReR dar gt vt
AR 3NgET Irod LT E.

A substitute bunglow peon attains temporary status after 120 days
service.

e ATHRT Tasll §9Tel IREr @ o 91T g.

Asst. Officers are entitled to a Substitute Bungalow Peon.

ST AUAAT Pl 398 TSdeg USRI & JrT-aryg frar off Tea
H TUeaRa AT ST gehdr E.

Bungalow Peons are transferable to any Railway along with the officer
to whom he is attached.

THIR & Ty 3UFFdl RS & Fifeh geleadfa & fow fanedr
FHARY T ITGFAT THIR TR AR &ir Sl &

SR stands for Suitability Record because the suitability of an employee
is decided for promotion on perusal of the SR.

Gl o & T 3faad sifAs d@ar & 100% = fgae # forar

ST 8.
100% of CL service counts for pensionery benefits.

Huel dar &7 7Y § MehiEAD TEr W A A e,

CL service means service done on Casual Leave.

ol W S99 a¥ # g 9R fear sar g

Bonus on Railways is payable twice a year.

FHAARAT I AfAF dded A I Tgell @ A &A1 SArer g

Monthly wages are paid to the staff on the first day of the month.

Iod WX @iediges 3R &fae ader 3afer §.

There are weekly and daily wage periods on Railways.

Rt P & AT & FATRAT H Uge TUET a1 ¥ U

HLT &

In case of any grievance, staff must approach the local political leader
first.




29.

30.

31.

32.

33.

34.

35.

36.

37.

I FIS FAIRT  AHe/AURIH & earT Read &ar § df 38
faeg rpemafaeh wRarg & S Fehdr &,

DAR action can be taken if any staff represent their grievances
through MPs/MLAs.

feea & SR adT gt T ST § Fifh AeiesT & 3afr &
SRTeT Ay A ST FET T 9SaT B

No wages are paid during suspension since the employee is not
required to work during the suspension period.

AeeT &1 31 § ufafesT sreT & ¢ I 39 W HAIRT S ol
T,

Suspension means punishing the employee for coming late to the office
daily.

IATRRT & F IFURATT & AU AoiaeT & SR ey o 3mer
daeT A g

Staff get half payment during suspension for unauthorised absence.

UREIRE oret A & 3aeld @A & amrd @ afaqfd @ S g

The cost of spectacles is reimbursed under Mutual Benefit Fund.

TEhRT TATT Tt Yo weamiRat & Hor & &

The co-operative society lends loans to all Railway employees.

Teh U9 S HAUNT I X A Thdl ARG A 3T o6l & 20/- 8.

Hod & 3YER o161 of Hehell B.

A Group D employee cannot take gifts worth Rs. 20/- from others on
certain functions in the house.

TR & & H S Fd W 9fd 3R gt & v & FEaTeT 7
g fRaT ST FeRar B

Wife and husband, if both working as peons can be posted in the same
office.

gvé‘rmﬁaﬁﬁiaa‘ﬁmﬁé:%mm@mvma“fa;mﬁ
AfeYer 31&ar BT aIfRu.

A group D employee should have minimum VIII Class qualification for
recruitment on Railways.



38. 5 @Y &I g AAT FX WATlded glod ATl YT Hdeh 1 U &
g

Pension is payable to a Railway servant who retires from service with
5 years qualifying service.



39.

40.

41.

42.

43.

44.

45.

46.

e S g9 & FAURY 2 aul 1 Far G A A & o 38§ G2
fear o gerar &

If a Group D employees dies after putting in 2 years service can be
paid pension.

Gariaigicd & AT & LT FAhcIor ST gla.

Leave encashment is payable at the time of retirement only.

STHT HE ST ATl AUy & AT AR ST @ ST &

Deposit Linked insurance scheme is linked to the PF balances of an
employee.

ST & ERIA Gl glel W Yold HEAURT & HTd $rel e e
.

Railway employees are given free food during IOD.

HIFIR & I & SNIE/AT 8o gl W 38 &faqfcd & ol &

Workmen get compensation if one is injured while on duty and in the
course of one's duty.

I s FerAT 3IET & ST ST F AT A A ST &, aF 9%
3! 3T HHIAR &Yl AR & HfARTFd efagqds TR &
AT T 8 ghaR ¢

If a Gangman is run over and killed while on duty, he is entitled for

ex-gratia payment in addition to the workmen compensation payable to
him.

THE "9 & AR Yo ATl H 3ALET W & §9 A 30AR
M FHT HET BRIl & gl &.

Group D employees are entitled to free diet while taking treatment as
in-patient in a Railway hospital.

sifgarfea Afger FHEmY wfa of & gFeR 6§

Un-married female employees are not entitled to Maternity Leave.



47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

Wwa adt &8 garr e ffea w@em & sufya @e sfow

31.3T./37.57.5T 3FHICAR hr AFT AT &= Srar g

SC/ST candidates are given a free pass to enable them to attend the
written examination conducted by RRB.

Yord AR 1 3 gel & fav 8 fmaAd 3w i gt W 3gd W

S 9T 9fAfesT 70% TTAT Hcdl ST 2.

70% of daily TA is payable to a Railway employee on line beyond 8
Kms for 3 hours.

s aiss fofte R IuRmEr & @ar ¥ geT ThdT o

A Senior Clerk can remove a peon from service.

3T & UFHUE fehexrare 3N Hag & & Terdl &

AP Express runs between Secunderabad and Mumbai.

gl Torurell TrEad afsAr Eeell a& 3R fGeeh @ Tard €.
All Rajadhani Expresses are to and fro Delhi.

Fafar & off fsar & JI-of SR™T ST ohdT B,

Cattle can also be transported by Trains.

A & YdeR MisaT I drar-of ST AT ST GehdT g,

Fish cannot be carried by passenger trains.

Iold HAT-HRON &1 H{ed 125 T. &
The rate of Railway Time Table 1s Rs.125/-.

Yord §AT ARON A A1 faue deel gaer & = g

The Railway Time Table gives the information about break journey.

IS g URT 500 foRAT. T gl T AT QU A § Ug G AT
A pass holder cannot break his journey before completion of 500 kms.

dlehel ¢oT bl TCehe 8 ©el & TolT a% &I &.
A local train ticket is valid for 8 hours.

ST IS & G & 2 ol & 91g FAT ARCY aRT  HoTdrgaT
&r ST §.



59.

60.

61.

62.

63.

64.

65.

66.

67.

Refund is granted by Station Master after two days of departure of the
concerned train.

foer gséiep feshe oY Tt & g ervaraely &1 S Fevell &

Full refund of fare is entitled on an unconfirmed ticket .

3TRETUT YR HI SIaradT T8l Sl ST Jehall.

The reservation charges are non-refundable.

giaemr 9@ 4 #@EE & fAU du § S SR o arly fohaetr of

IR IATET & Fhll &

A privilege pass is valid for 4 months during which the holder can
travel any number of times.

fehe deree 9 feee aml St Jef ey =t 81, & &1 AR agel

FT ThdT &.
A TC should collect amount from ticket-less traveler if he is not a
staff only.

Ticket checking staff are running staff who are entitled for running
allowance.

Drivers are non-running staff.

HHANT I & SN 2ATeleT 6.
Staff should be sober while on duty.

FAASOR GAET SIS Ig Sl adel & folw &1 Sy & 6 33
QaHeT fohaT dIh-o1 &.

Breathalyser test is to test the driver whether he is breathing is
properly.

SICT IR gl & 10 €T & Ygol AWM I ol 3T T 3frer
At & 3ideia ds-ly &

Taking intoxicated drinks before 10 hours of commencement of the
duty is punishable under DAR.



VIIL

68.

69.

70.

71.

72.

73.

74.

75.

TR el Aol & §HaR 6.

Peons are entitled to washing allowance.

YA el THE "' & 3o HAANRAT T &I el §, il Tole, HY
3R AR 3fe @ e @ SR A §

Washing allowance is an allowance payable to Group D staff who
accept the work of washing plates, cups and saucers etc.

T Fall a7 & Hfea ey & Ifr 39 Tosg & Far fr
Sl § AR @ deEt & @l & v s i @9 @
3meRa $ir I 8.

The daily sale proceeds of the Railway staff canteen are credited to
Railway revenues and draw the necessary expenditure from Railway
towards purchase of provisions.

@ﬁﬁﬁm@@gﬂﬁﬁﬁﬂ%ﬁﬁ:wﬁﬁmma*
g &

Some trains are called freight trains because of their frightening speed.

HET ATl AT Jateh ATl ASAT & Heolel HT HY ST ©.
CFTM looks after movement of Freight Trains.

ShealT HIANLUT el I fohr aar g

Container Corporation sells containers.

IMSIRAETT &7 37 § IR Y @ 3k aRaga @9,

IRCTC stands for Indian Railway Catering and Transport Corporation.

oo Yol &1 ag f3amer § o i3t & 36T & R & 9arar g,
RailTel is a department of Railways who tells about Railways to the
passengers.

HIATT ATd General Questions:

. & H 13 F HET gt FHlT &

Who is the General Manager of S.C. Railway?

. §HINT F IYT HET 994F FlT &

Who is the Additional General Manager of S.C. Railway?



w

gHAITS & GHE HET FAAaT Pt 8
Who is the Pricipal Chief Engineer of S.C. Railway?

4. gHITT F FET FUNAT HABRY AT FleT 87

Who is Chief Administrative Officer/Construction of S.C. Railway?

o

gAY & HET AT FAFH ot &
Who is the Chief Personnel Officer of S.C. Railway?

6. fAcT FARFR T FET &G JFAFR T &
Who is the Financial Advisor & Chief Accounts Officer?

7. devieig Aser FT TEITTT Far &
Where is the Headquarters of Hyderabad Division?
8. RAFeIEia HSel FT TEITT Far &

Where is the Headquarters of Secunderabad Division?

9. RASTIETIST FT HRT ATH FAT &

What is the other name of Vijayawada?

10.g7 &t 7 st FAwRt as glaar grat & v a7 &

How many privilege passes are eligible to Group D and Group C employees?

11.25 a9F & dar [ Fvaare g7 & 7 3 FHAR s Aarfageatavia gt
# fore a7 &

How Many Post Retirement passes are eligible for Group C and D
employees, who have put in 25 years service?

12. 318 FHarY f@ear #mred arg &1 faFew aar & at ag fFas de i &
fae g &
If an employee opts for widow-complimentary passes, he is entitled for 6 sets
of PTOs.

13. BFAfaf@a o g #se # Rya &

In which Division the following stations are situated?
Nanded, Tirupati, Raichur, Nandiyal, Parli



14. IR & FeT A HleT &

Who is the Prime Minister of India?

15. 37 93T ekt Far T &

Where Rail Wheel Factory situated?

16.3715¢ T F =T Faa Fn

Who wrote Natioanl Anthem?

17. 9RANT e 7 & adamT FvaT FT &

Who is the Present Captain of Indian Cricket?

18.gvaqelar &1 Jfasr fFae faam

Who Invented television?

19. 3caRTeer F1 IASTETAT FT FATH TATC?
Which is the capital of Uttaranchal?

20. FfaAv%3 flfdw & aR™s faflF 9a W gal~=ld & fav JIfET ~AdH dar
fraat &

What is the minimum service required for promotion of junior clerk to senior
clerk?

21. 9737 Siean A% siear 9rAaT ¥ fav FHAN §aRT aT F AT g
et &

What is the minimum distance an employee to travel to become eligible for
TA/DA?

22.#R@IA A ey e ¥ & fFaa R wwfeAs get & v 9 gar &

How many days casual leave a fitter in workshop is eligible in a year?

23. HRART Yo7 &H fFaa aT &

How many Zones are there in Indian Railways?

24 . IRANT ¥eT H fFaa FR@ &

How many Workshops are there in Indian Railways?



25. 3 #A FT ATH F4T &
Who is the Minister for Railways?

26. 373 aiF Far R &

Where is the Railway Board situated?

27. Rrafaf@a dut # Far #7418

What is the currency of the following countries?
USA ,Dubai, Singapore, Australia, Bangladesh, Russia, China , Sri Lanka,
Pakistan

28.9ReT 3 FoAld HIFd FhoT &

Who is Election Commissioner of India?

29. 4R #H fFaa T &

How Many states are there in India?

30.9Ra # fFa+ ag afaa gdeor &

How many Union Territories are there in India?

31.8ReT & HET ~rATeRr FhT 87
Who is the Chief Justice of India?

32. gorra Fet f58 FeT Srar &

Who was called as Punjab Kesari?

33. 3 Fgfaraar FET fEuT &

Where is the Railway Museum located?

34. 807 T ¥ gHE BT
Who is the Head of the Zonal Railways?

35. FHTGIRG' 3 FGRET FT €77 @I [AHTT FT FTH FIT &

Which Department handles health care of the employees?

36.#7ser ¥0a F GHE FhT 87
Who is the Head of the Divisional Railway?



37.g#¥wd 9 fFaa 9HE FREr &

How many major workshops are on SC Railway?

38. 1A A3 F FET FA FhT &
Who is the Chief Minister of Tamil Nadu?

39. 3TE gSr F ISIGIeT FHiT &
Who is the Governor of AP?

40. 3% HFAT fawgl ghT §PR F Sccdl F TH TATFT.

Write any two allowances admissible to you?

A1 .3 da% # c&Frd 4t @t 5PR & scql F a1 fAfav

Write any two allowances admissible to Railway servant?

42. 373t & 3T FIT T &
What is meant by D & A Rules?

43.4 ¥ @ dar I FAare g7 S FHAR fraa arr T dida F AT g
&

How many sets of passes and PTOs are entitled to a Group D employee who
has put in 4 years of service?

44.z 7o oY GHE Tdead v P &

What are important Tourist places on S.C. Railway?

45.g.7 Ye1d & fav Idf varat Far &

What is the recruitment agency for S.C. Railway?

A6. IRANT ¥eoT ¥ v HIT RAt Frelor Far &

Where is the only Degree College on Indian Railways?

47 . FHTRT amr [Afer #r &
What is SBF?

A8. FHTGRT amer Ay aAfT #F reger 7 gevT FiT &



Who are the Chairman and members of SBF Committee?

49.g7Id ¢ FHANT amr [ AR GaRT IR F TF FherAe: FAT &

What are the schemes introduced by SBF Committee on S.C. Railway?

50.GAY FHGRT G 3 AgT faT Fla &
Who is the General Secretary of SCRE Sangh?

51.35% AwGY AT ¥ HaT FfAT FloT &
Who is the General Secretary of SCRM Union?

52. R ¥ GV HIAT qecd 5 JlAged st 87 3o7dr A1 qAre:)

How many Trade unions are recognized on Indian Railways? What are they?

53.37a FpeAFIiel & faw Fdhddl FT 87

Who is the Correspondent for the Railway Schools/Colleges?
sgeskoskoksk
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33 1/3 % der=fa :1¢ & fw wea d=

Question Bank for 33 1/3% promotional quota selection

ICACI Subject TTG . Page No.
aford MATHS 1to9

AT 336 3T Jresor
GENERAL ENGLISH AND GRAMMAR 9 to 22
A9y of@s, 9T @, o1, ag«, favor, GEEl Nerek, 3fAYS, gIATH,

qrerg Shisar, e, Essay writing, Letter writing, Gender, Singular and

Plurals, Adjectives, Degrees of comparison, Articles, Pronouns, Joining
sentences, Change of voice, Verbs,

AT AT GENERAL KNOWLEDGE 22 to 34
afercd &9, Yoid ¥ Fefed A, 9 A, 3, ocd, darfod #faw

Abbrevations, Matters pertaining to Railways, Leave Rules, Advances,
Allowances, Organised Labour.

16 2/3% 9eledAfd HeT I9d & QT yed d&

Question Bank for 16 2/3% promotional quota selection

IO MATHS 35 to 55

aEdideh HEAT, 3T 3R FAGIIT, @187 3R g, Araamds ge.
AT SIS, Tshdfe, SIS, TAeld, ASERT, 3ad, 87T 3R $ . Real

Numbers, Ratio & Proportion, Profit & Loss, Trade Discount, Simple
Interest, Compound Interest, Percentages, Partnership, Averages, Time &
Work

AT 336 3T sJresor
GENERAL ENGLISH & GRAMMAR 56 to 70

fAeer oget, g9 oI, Toler, aee, faRIvor. Jorer sitres, 3iffive, ades,

a1y, ared dcelell, TohaT. Essay writing, Letter writing, Gender, Singular

and Plurals, Adjectives, Degrees of comparison, Articles, Pronouns,
Sentences, Change of voice, Verbs




HATT AT GENERAL KNOWLEDGE 71 to 82

Abbrevations, Matters pertaining to Railways, Leave Rules, Allowances,
Organised Labour



